4300

SR001 - BEAM
(CAN BE SUBSTITUTED BY BEAM SR028)

4300

SR028 - A PROFILE 3MM BEAM

‘ 4300 -

‘_|7 ° ° M M =

< DL S ==] S f [==] l: [==] [==] [==] f==] =
115 B
TN

@ -
o ™~
o e |
SR152 - WASHER PLATE 115 M0 )| M16 . SR200 - SETSCREW 4.6

x 40 x 5 DIA.12

SR203 -SBPUICRERVSCREW 8.8

4.6 M10x60 c/w NUT

(@9 211

SR301 - M10
WASHER 11¢ HOLE

PLATE DIMENSION

@ @18

SR300 - M16
WASHER 182 HOLE

PLATE DIMENSION

LIP M16x27 c/w NUT

M16x45 c/w NUT

700 MAX 700 MAX
SURFACE MOUNTED % % SURFACE MOUNTED
POST ™\ alE AlE /  POST
m|T m|T
[l =l
- -
< <
le) o
[ ] ]
APPROACH DEPARTURE
OFFSET POST CAN BE FIXED WITH OFFSET POST
CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR
PUSHED IN ANCHORS
AT 180x180 CENTERS
1 L0 g AN
F ' 2 F| | s '
o 1o [ [ o 1o
PLATE DIMENSION PLATE DIMENSION
700 MAX 700 MAX

*BASEPLATE DRILL & TAPPED FOR LIFTING EYE

55 55

o o
= =
o] ol
o o
o o
o
o
~
o
o
<
o~
SR072 - TYPE 'A'
POST SIGMA 100
2100mm
SRO75 - TYPE 'A'
POST SIGMA 100
2400mm
60 INT. ‘
=
Z
n
S
o
[\
<

55

1100

00 o

1900

SR071 - TYPE 'A'
POST SIGMA 100
1900mm

60 INT.

| 470 | 105 INT
| |

55 ‘« | 220 |
S 0 0
jpt [= z o
o o
(42} (o]
J  +0 0
° ‘ 150 ‘
1 ]
o
(]
g 2
‘ 220 ‘
SR350 - SURFACE
MOUNTED TYPE 'A' SIGMA
o 100 POST
SRO73 - TYPE 'A'
POST SIGMA 100
1100mm
60 INT. ‘ ‘
=
&
Ln
o
i
o
o
[Tp]

SR100 - A21 SR090 - SIGMA SR091 - SIGMA
REINFORCING 100 POST 100 POST
RING SOCKET x 420 SOCKET x 470

SR092 - SIGMA

100 POST

SOCKET x 520

POST TOP DRILLING

ARRANGEMENT
o) (@]
0 @)
(@]
@)
v X
TYPE 'A' TYPE 'B'

OFFSET PLATE DETAIL

07 [31/05/22 el AD
06 [25/05/22| >URTACEMONIEDPOST 1A
05 |19/11/19| BEAM DETAILS ADDED | M.T
04 [12/02/19| TITLEBLOCK REVISED | H.B
03 |10/03/17| OFFSET POST REVISED | L.L

02 |26/01/17| DETAILS ADDED & REVISED | L.L

1.2 |20/05/15 DETAILS REVISED

M.T

REVn DATE DETAILS

INITIAL

MegaRail ESP+W1

N2 W1

N2.W1 VEHICLE RESTRAINT SYSTEM

COMPONENTS SCHEMATIC

SAFE

CONCORD HOUSE,

®

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

N2W1-GA-00

REVn:

07




BEAM TO POST CONNECTION TYPE 1 X2 ROWS OF GENERAL NOTES:
CONNECTION BOLTS

AND BEAM TO BEAM LAP CONNECTION 1. P.S.B. = POINT FROM WHERE SET-BACK
(1 No / 4m BEAM) 1S MEASURED.
2. POSTS ARE TO BE INSTALLED WITH
THE CLOSED FACE OF THE CHANNEL
f = 1 \SR200 (SR300 TOWARDS THE ON-COMING TRAFFIC.
3 © |\
SR201 Y SR300 3. AT LOCAL OBSTRUCTIONS INDIVIDUAL
== A - POSTS MAY BE OMITTED WHICH

\
- 7 WOULD RESULT IN A GAP BETWEEN
- \ ADJACENT POSTS OF 1333. OR
\L]? ALTERNATIVELY OFFSET POST SHOWN
@ N v ON DRAWING N2W1-GA-00 CAN BE
\
\

(CAN BE SUBSTITUTED USED.

BY SR028
— | ! \ | - —— | | 4. FOR OPTIONS ON POST FOUNDATIONS
—t— 1 1 1 — 1V i I REFER TO DRAWING NUMBER
E2 G2 2 =3 1 3 ] £ =3 MR-GA-020
S—— = = 5. WHEN TYING INTO ADJACENT VRS
T ONLY ONE WORKING WIDTH
| | H | DIFFERENCE IS PERMITTED.
I I I I I I I I I 6. FOR MINIMUM LENGTH OF FULL
HEIGHT VRS REFER TO SAFEROAD
| | | MEGARAIL MANUAL.
‘ 7. FRONT & BACKING BEAMS TO RUN IN
SYNC.
2m TO FIRST 667 667 666 667 667 666 667 667 666
W2 POST ' ' '
23
£Z S MIN. 600
%2 IS SIGMA
=9 ALY 100 POST
POST 2 5 NO BEAM TO POST — 3 No POST NO BEAM TO POST [— POST CONNECTION g
CONNECTION Sz BOLT CONNECTION | CONNECTIONS BOLT CONNECTION | TYPE 1 I
s= /S
TYPE 1 g5 TYPE 1 s
o ’ // v/ | |
7/ // / o
Vi 4 o el
_____ X — 7 e S S g~
[ ! 4 7 g 3
_____ 7’ 7 T 7S | |
7 / 300 Y, 7
300 p . y
S - / TRAFFIC FLOW BEAM A ||
/
LAP /,/ ; LAP
~ /
/
/ .
/ MegaRail ESP+W1
/
/
/ N2 W1
N2.W1VEHICLE RESTRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT
SIGMA 100 POST
@
TABLE 'A' - SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m TABLE 'B' - SCHEDULE OF POST S A F E
BEAM REFERENCE NUMBERS AND LENGTHS CONCORD HOUSE
SAFEROAD :
UK PART DESCRIPTION QUANTITY SAFEF;‘%Ahﬁ’B‘EJg PART | posT LENGTH BESSEMER WAY, SCUNTHORPE,
NUMBER NORTH LINCOLNSHIRE, DN15 8XE
SROO1 BEAM (CAN BE SUBSTITUTED BY 1 SR073 1100 04 [|19/11/19] BEAM DETAILS ADDED M.T t: 01724 289119
SR028) SRO71L 1900 PN POV e ——— FOR TECHNICAL ASSISTANCE CONTACT
SR025 BEAM § ROUND ESP 1 SR072 2100 102/ : john.cudlipp@saferoad.co.uk
SEE TABLE B | POST SIGMA 100 6 pp 2200 02 |26/01/17|KERB HEIGHT & CODES REV'D| L.L | brawiNG NUMBER: REVN:
1.2 [20/05/15 DETAILS REVISED M.T
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING /05/ N2W1-GA-01 04
NUMBER N2W1-GA-02 REVN DATE DETAILS INITIAL




LEFT HAND —
REINFORCING BEAM

RIGHT HAND
REINFORCING BEAM
BEAM

SR300

Z,@

/4

BEAM TO BEAM CONNECTION
ARRANGEMENT AT FRONT
BEAM LAP
(x2 LOCATIONS / BEAM END)

RIGHT HAND BEAM

LEFT HAND

]

q

i

|

|

|

|

|

L]
T
_______".

.

fe=s--

BEAM TO POST

CONNECTION TYPE 1
(x4 LOCATIONS / BEAM)

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM
DoART pESCRIPTION FRONT BEAM | og,iyap
NUMBER JOINT
SR200 | SETSCREW 4.6 LAP M16 x 27 ¢/w NUT 8 (+4) 4 (+4)
SR201 | SETSCREW 8.8 M16 x 45 c/w NUT 2 (+2) 0
SR300 | M16 WASHER 18¢ HOLE 6 (+6) 4 (+4)

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL
RESERVATION INSTALLATIONS THE REFERENCES ARE REVERSED

NO BEAM TO POST
BOLT CONNECTION
(TYPE 2)

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST

SAFEROAD
UK PART DESCRIPTION oo
SR203 | SETSCREW 4.6 M10 x 60 ¢/w NUT 1
SR152 | WASHER PLATE 115 x 40 x 5 DIA. 12 1
SR30L | M10 WASHER 116 HOLE 1
QUANTITY OF CONNECTION TYPES / 4m BEAM
4 (+1)

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS

/* USE THIS HOLE
OF INDIVIDUAL RUNS OF BARRIER.

_N_

BEAM TO POST
CONNECTION HOLE

03 (12/02/19 REVISED TITLEBLOCK H.B

HOLE LOCATION & CODES | L.L
REVISED

02 (26/01/17,

1.2 |20/05/15 DETAILS REVISED M.T

REVNn DATE DETAILS INITIAL

MegaRail ESP+W1
N2 W1

N2.W1 VEHICLE RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVN:

N2W1-GA-02 03




SIGMA 100 POST

L]
o
I
| RIGHT HAND
LEFT HAND | REINFORCING
REINFORCING 1 BEAM
BEAM I
I NOTE: BEAM ORIENTATION
! BEAM END WITH ADDITIONAL PERFORATIONS
] TO BE SITED AT THE APPROACH END
-] [~
—I o o / v v
—_— =3 [ o b o ] =3
° ° \ . ~
REINFORCING ‘
BEAM 'LAG' \
——
s =
= = P
= =
(o m)
- -
= =
RIGHT HAND BEAM
NOTE: BEAM ORIENTATION CIRCULAR

HOLES TO BEAM APPROACH END
LEFT HAND BEAM

NOTE: BEAM ORIENTATION

TEARDROP HOLES TO BEAM
DEPARTURE END

TRAFFIC FLOW

LEFT HAND RIGHT HAND REINFORCING BEAM
REINFORCING BEAM

POST CAN BE OFFSET UP TO 50MM

T
|
I
|
|
LEFT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION
INSTALLATIONS THE REFERENCES ARE REVERSED

RIGHT HAND BEAM

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

05 [12/02/19 REVISED TITLEBLOCK H.B

04 [28/03/17| POST OFFSET REVISED LL

03 [10/03/17 DETAILS ADDED LL

02 (26/01/17| HOLE LOCATION REVISED LL

1.2 [20/05/15 DETAILS REVISED M.T

REVNn DATE DETAILS INITIAL

MegaRail ESP+W1
N2 W1

N2.W1 VEHICLE RESTRAINT SYSTEM.
BEAM LAPPING ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W1-GA-03 05




LENGTH OF NEED OF FULL HEIGHT FULL CONTAINMENT VRS - MIN. 40m

MINIMUM 30m

[APPROACH LENGTH]

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. MINIMUM LENGTH OF FULL HEIGHT VRS IS 40m

APPROACH TERMINAL, DEPARTURE TERMINAL,
TAPER OR TRANSITION REFER TO SYSTEM PROGRESSION DRAWING MIN. 10m N2-W1 N2-W1 TO FULL \ MIN. 7.5m N2-W1 N2-W2 TAPER OR TRANSITION
LENGTH OF HAZARD ‘ [DEPARTURE LENGTH] MIN. 4m
wol 8
- =l o
Sgk3
e
=
VITI IV VI IIIITIIIIIII VNI III IV VII NIV IO ITI IV IV IV III NI IIIIIIIY.
4
P.S.B. W e
TRAFFIC FLOW
MegaRail ESP+W1
VEHICLE RESTRAINT SYSTEM.
SYSTEM PROGRESSION SCHEMATIC
FOR W1 PROTECTION TO HAZARD
SAFE )
CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
03 |12/02/19 REVISED TITLEBLOCK H.B john.cudIipp@saferoad.co.uk
02 |26/01/17 DETAILS REVISED L.L [ orAWING NUMBER: REVn:
1.2 |20/05/15 DETAILS REVISED M.T _ _
REVH | DATE DETAILS INITIAL N 2W1 GA 10 03




2000 POST CENTRES

SIGMA 100 POSTS AT 667mm CENTRES

. : ; : : : ; ;
I
LAST N2-W2 SYSTEM —— ~— FIRST N2-W1 I
POST SYSTEM POST RIGHT HAND — I
(SIGMA 100) REINFORCING BEAM | ||
° M ° M M v M M o © !
o o A A A A A - [==3 -
] ] ] = —
< 0 | | | - -
= = } [ [ _ _
| | | — —— & &5 =) =D
! ! ! — / i i i =
5 =) =) =) 1 1 1 = =
i i i =
1 I 1 -
| | |
FLAT BEAM PROFILE B
CORRUGATED
BEAM PROFILE A
TRAFFIC FLOW
MegaRail ESP+W1
NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END N 2 W1
N2.W1 VEHICLE RESTRAINT SYSTEM.
N2.W2 INTO N2.W1 SYSTEM
PROGRESSION CONNECTION DETAIL
SAFE ’
CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
04 [12/02/19] REviseD TITLEBLOCK | H.B t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
03 |10/03/17] POST DETAILS REVISED | L.L john.cudlipp@saferoad.co.uk
02 |26/01/17| VIEW MOVED & BEAM REV'D | L.L [ DrAWING NUMBER: REVn:
**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION
INSTALLATIONS THE REFERENCES ARE REVERSED 1.2 120/05/15 DETAILS REVISED M.T N2W1-GA-20 04
REVN DATE DETAILS INITIAL




GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW A
POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION. THE NEW POST SPACING MUST
NOT EXCEED 1333mm. ALTHOUGH IT WOULD
BE BENEFICIAL TO USE THE HOLES ALREADY
IN THE BEAM IT IS ACCEPTABLE TO DRILL NEW
HOLES IN THE DESIRED POSITIONS AND
TREAT WITH ZINC RICH PAINT.

2. OFFSET POSTS SHOWN ON DRAWING
N2W1-GA-00 CAN BE USED.

ED £ ED -
3
| OBSTRUCTION |
[ |
7
% )
667 666 667 667 1333 667 666 667 667
| I
667 666 667 667 1333 667 | 666 667 | 667
£ £
= SURFACE MOUNTED POST
= 03 |25/05/22 EACE CHANGED A.D
02 |01/04/19|  REVISED TITLEBLOCK | M.T
01 [12/02/19|  REVISED TITLEBLOCK | H.B
[ ; : 00 [26/01/17 NEW DRAWING LL
/E E W % REVn | DATE DETAILS INITIAL
PUSHED IN ‘ OBSTRUCTION ‘ DRILL & FIX ]
‘ ! OR PUSHED IN S
v R MegaRail ESP+W1

N2 W1

N2.W1 VEHICLE RESTRAINT SYSTEM.
DEVIATION SETTING OUT
ARRANGEMENT

SAFE ®

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W1-GA-40 03




4300

63 63

306
:H:

===

SR001 - "A" PROFILE BEAM
(CAN BE SUBSTITUTED BY BEAM SR028)

4300

220

306
A

_.__w'__._

| | |
1 1 1
— |
1 1 1
SR028 - A PROFILE 3MM BEAM

2300

b] |o
2000

\VAV,
306
T

=

115

40

@ 218

SR151 - WASHER PLATE
115x 40 x 6 DIA. 18

SR021 - "A" PROFILE BEAM 2300mm

M16 L

M16

SR201 - SETSCREW 8.8
M16x45 c/w NUT

SR300 - WASHER

SR200 - SETSCREW 4.6
LIP M16x27 c¢/w NUT

2400

SR036 - TYPE 'A' POST
"C" 125 2000mm

18¢
PLATE DIMENSION
PLATE DIMENSION MAX 700
MAX 700 M m
o - - o
& &
= 0 65 INT.
kS k= SRO40 - TYPE 'A' POST 2
aE Flg "C" 125 2400mm E
‘ < < | =
o (@) ©
A= | | | =% 8
APPROACH DEPARTURE
OFFSET POST CAN BE FIXED WITH OFFSET POST
CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR
PUSHED IN ANCHORS o
AT 180x180 CENTERS S
[IN] 8.8
: / | o .8 : .8 . I\, —
o -] o -]
SR100 - A21 SR080 - C-125
PLATE DIMENSION [*BASEPLATE DRILL PLATE DIMENSION REIN:&RGCING POS-[( ic;gKEr
700 MAX & TAPPED FOR 700 MAX

LIFTING EYE

230

150

ﬁ.‘« L‘«
n
o~
o
N
o
[a2]
o o
a
8 [=
S
o
o
o
@0
s

SR035 - TYPE 'A' POST
"C" 125 1800mm

65 INT.

128 INT

SR034 - TYPE 'A' POST
"C" 125 1100mm

520

SR081 - C-125
POST SOCKET
x 520

220

SURFACE MOUNTED -
TYPE 'A' C-125 POST

65 INT.

128 INT

570

SR083 - C-125
POST SOCKET
x 570

POST TYPE
IDENTIFICATION
—) —)
4 THICK 5 THICK
LJ LJ
(0]
v x
TYPE 'A' TYPE 'B'
10 |26/11/24]  DRAWING UPDATED | HB
09 [13/05/22] PURFACEMOUNIEDFPOST |
08 |27/05/21]  DETAILS REVISED M.T

07 |19/11/19 BEAM DETAILS ADDED M.T

06 [12/03/19 TITLEBLOCK REVISED M.T

05 |28/03/17| POST LENGTH REVISED LL

04 [10/03/17|BEAM ADDED & DETAILS REV | L.L

03 |26/01/17| CODES & DETAILS REVISED | L.L

2.4 |20/05/15 DETAILS REVISED LL

REVn DATE DETAILS INITIAL

MegaRail es
N2 W2

N2.W2 VEHICLE RESTRAINT SYSTEM
COMPONENTS SCHEMATIC

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W2-GA-00 10




BEAM TO POST CONNECTION TYPE 1
AND BEAM TO BEAM LAP CONNECTION
(1 No / 4m BEAM)

x2 ROWS OF

CONNECTION BOLTS

— SR200 ) SR300
\

<] \
SR200 ) SR300
= \
SRO4x SRO01
prr
(CAN BE SUBSTITUTED \U/
BY SR028) N \
\\
| | | | \ | |
= = T T T =TT+ T T
= = I I I / = I = \\ I I
g |== £ =3 = I . G =
I I I I I I I
——= ! ! ! —— ! !
8 T T T T 11 T T
«
D
(3]
2000 2000 ‘ 2000 ‘
POST POST CONNECTION POST CONNECTION
CONNECTION TYPE 1 TYPE 1 o,
TYPE 1 S
LI MIN. 800
s POST C 125
7/
E E K //, —l
=== R s
—_— —_—— S o
| 7 ]
7/
300 300 e
BEAM TRAFFIC FLOW BEAM 7 . sls
LAP LAP ‘S, 38 | | H|
7 // ¢ I
7 || °
// ¢
e |1

TABLE 'A' - SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM

SAFEROAD UK
A NUBER DESCRIPTION QUANTITY
BEAM "A" PROFILE (CAN BE
SR001 SUBSTITUTED BY SR028) 1
SEE TABLE'B' | POST "C" 125 2

NUMBER N2W2-GA-02

FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING

TABLE 'B' - SCHEDULE OF POST
REFERENCE NUMBERS AND LENGTHS
SAFEROAD UK PART
NUMBER POST LENGTH
SR034 1100
SR035 1800
SR036 2000
SR040 2400

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. FOR OPTIONS ON POST FOUNDATIONS REFER
TO DRAWING NUMBER MR-GA-020

4. FOR DEVIATIONS IN SYSTEM POST PITCH
REFER TO DRAWING N2W2-GA-40

5. WHEN TYING INTO ADJACENT VRS ONLY ONE
WORKING WIDTH DIFFERENCE IS PERMITTED.

6. WHERE A KERB IS PRESENT THE MAXIMUM
KERB HEIGHT IS 100mm. SHOULD THE KERB
BE HIGHER THAN 100mm AND THE FENCE IS
SETBACK LESS THAN 250mm FROM FACE OF
KERB THE SYSTEM HEIGHT IS MEASURED FROM
THE CARRIAGEWAY. IF THE SETBACK IS MORE
THAN 250mm FROM THE FACE OF KERB THE
SYSTEM HEIGHT IS MEASURED FROM THE TOP
OF THE KERB. SEE MR-GA-002.

7. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
REFER TO SAFEROAD MEGARAIL MANUAL SEE
DRAWING MR-GA-042.

08 [26/11/24 DRAWING UPDATED H.B

07 |12/10/21| GENERAL NOTE 7 CHANGED | A.D

06 [25/05/21 DETAILS REVISED M.T

05 [19/11/19 BEAM DETAILS ADDED M.T

04 (12/02/19 TITLEBLOCK REVISED M.T

03 |26/01/17| CODES & DETAILS REVISED | L.L

2.3 |20/05/15 DETAILS REVISED LL

REVn DATE DETAILS INITIAL

MegaRail es
N2 W2

N2.W2 VEHICLE RESTRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W2-GA-01 08




RIGHT HAND BEAM

LEFT HAND BEAM

o

SR300

SR300

A

>
5>..’

SR300

W

SR300

N

BEAM TO BEAM CONNECTION

ARRANGEMENT
(x2 LOCATIONS / BEAM END)

g_l,

o}o
- — — — — — ]

I

I

I

-  — — — ]

BEAM TO POST
CONNECTION TYPE 1

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST

SAFEROAD BEAM TO
UK PART DESCRIPTION BEAM
NUMBER CONNECTION

SR200 SETSCREW 4.6 LIP M16x27 c/w NUT 8 (+8)
SR300 WASHER M16 18% HOLE 8 (+8)

SAFEROAD
TYPE 1
UK PART DESCRIPTION
NUMBER CONNECTION
SR201 SETSCREW 8.8 M16 x 45 c/w NUT 1
SR151 WASHER PLATE 115 x 40 x 6 DIA. 18 1
SR300 WASHER M16 18¢ HOLE 1

** BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

05 (26/11/24] DRAWING UPDATED H.B

04 (12/02/19 TITLEBLOCK REVISED M.T

03 |26/01/17| CODES & DETAILS REVISED | L.L

2.4 |20/05/15 DETAILS REVISED LL

REVn DATE DETAILS INITIAL

MegaRail es
N2 W2

N2.W2 VEHICLE RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W2-GA-02 05




POST C125
?
|
I
I
I
I
|
|
o 1 23
T
° °
s s
< <
P
- -
s <
RIGHT HAND BEAM

1 NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END
LEFT HAND BEAM
NOTE: BEAM ORIENTATION
TEARDROP HOLES TO BEAM
DEPARTURE END

TRAFFIC FLOW

J

L

LEFT HAND BEAM RIGHT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

05 [26/11/24 DRAWING UPDATED H.B
04 (12/02/19 TITLEBLOCK REVISED M.T
03 |26/01/17 DETAILS REVISED LL
2.4 |20/05/15 DETAILS REVISED LL
REVN DATE DETAILS INITIAL

MegaRail es
N2 W2

N2.W2 VEHICLE RESTRAINT SYSTEM.
BEAM LAPPING DETAIL FOR W2
MEGARAIL SYSTEM

SAFEROAD

CONCORD HOUSE,

t: 01724 289119

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

FOR TECHNICAL ASSISTANCE CONTACT

john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

N2W2-GA-03

REVn:

05




— EXTENT OF N2-W1 SYSTEM
FOR MEASUREMENT PURPOSES

N2-w1 N2-W2 MEGARAIL
C-125 POSTS
1333 | 1334 | 1333 2000 2000
-] o + o
\
‘ —— LAST N2-W1 SYSTEM FIRST N2-W2 SYSTEM —
| | ' POST POST

| | |

S S T 1 !

T ! ! I

: : : : ! — g G2 = 2

! ! ! ! ! e e i : : :

ED -5 e £ ED =3 i ! :

s s s s ' s, =
| | | | | |
1 1 1 1 1 3 1 s
! ! ! ! ! !
CORRUGATED
BEAM PROFILE A
CORRUGATED

BEAM PROFILE A 2.5mm

TRAFFIC FLOW

GENERAL NOTES:

NOTE: BEAM ORIENTATION CIRCULAR

\ HOLES TO BEAM APPROACH END

** BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
\ ON-COMING TRAFFIC.

MegaRail es
N2 W2

N2.W2 VEHICLE RESTRAINT SYSTEM.
N2-W1 INTO N2-W2 SYSTEM
PROGRESSION CONNECTION DETAIL

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

07 (26/11/24 DRAWING UPDATED H.B
06 [25/05/21 DETAILS REVISED M.T
05 |12/02/19 DETAILS REVISED M.T
04 |10/03/17| POST DETAILS REVISED LL
03 [26/01/17| VIEW & DETAILS REVISED LL
2.3 [20/05/15 DETAILS REVISED LL
REVN DATE DETAILS INITIAL

DRAWING NUMBER: REVn:

N2W2-GA-20 07




GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW A
POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION. THE NEW POST SPACING MUST
NOT EXCEED 3000mm AND MUST NOT BE LESS
THAN 500mm. ALTHOUGH IT WOULD BE

| | | | | | |
i i i —— i i i BENEFICIAL TO USE THE HOLES ALREADY IN
= < < < < < < THE BEAM IT IS ACCEPTABLE TO DRILL NEW
: : : Co— . . : HOLES IN THE DESIRED POSITIONS AND
: : : —= : : : TREAT WITH ZINC RICH PAINT.
2. OFFSET POSTS SHOWN ON DRAWING
N2W2-GA-00 CAN BE USED. INSERT THE
i OBSTRUCTION i ORIGINAL POST SPACING INSTEAD OF 3000mm
Dmmzzznznzzzzzz
2000 MIN. 500 MAX. 3000 MIN. 500 ‘ 2000
| | | —— | | |
1 1 1 = 1 = 1 1 1
=5} =2) =2) ) =) G2 o) )
] ] ] —— ] ] ]
| | | | | | |
| OBSTRUCTION i
Y SN
2000 MAX. 3000 2000 03 [13/05/22] SURECEFOUNEDFOST [ ap
02 [12/02/19| TITLEBLOCK REVISED | M.T
o1 [10/03/17 NOTES REVISED LL
00 [26/01/17]  DRAWING CREATED LL
2000 2000 2000 2000 REVNn DATE DETAILS INITIAL
| | | | .
: ! ——= : ! MegaRail es
=3 =) =) ) G =) 3]
: : : — : : : N2 W2
1 1 1 1 1

|

|
[
PUSHED IN ﬂ

CRADLE ANCHOR

-

OBSTRUCTION

|
]
|
DRILL & FIX

OR PUSHED IN
ANCHOR

N2.W2 VEHICLE RESTRAINT SYSTEM
DEVIATION SETTING OUT
ARRANGEMENT

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W2-GA-40 04




306

40

50

55 . 55 . 55 . 55 . 220
‘ 4300 ‘ o
. . s g g S 0 0
= = = = v—|7 v—|7 v—|7 v—|7 o o
< =) P P (=3 2 (<
P P - - (e0] o
N T T T T I 0 0
001.00M - "A" PROFILE BEAM o o ° o T 150
] [ o]
(o]
o
115
()
m
C 11 o =
o
O 918 @( a1 S (LD =
M16 L
115 x 40 x 6 DIA. 18 LIP M16x27 c/w NUT S 220
040£f6' ESET/SCRNEL‘J’YF 8.8 § SURFACE MOUNTED TYPE
X% W a 'A' SIGMA 100 POST
8
i
o PR AN
18
003.28 - TYPE 'A'
04030 Mt POST SIGMA 100
U 1100mm
WASHER 185 HOLE
003.25M - TYPE S
'A' POST SIGMA
— 100 1700mm —
PLATE DIMENSION PLATE DIMENSION 003.00M - TYPE 004.00M -
MAX 700 MAX 700 'A' POST SIGMA BRACKET STUB
1 L 100 1900mm IRON 200 x 3
SURFACE MOUNTED = = SURFACE MOUNTED
POST ™\ S S ~  POST 003.27 - TYPE 'A'
81F = POST SIGMA 100
i = = = 2100mm
LI ! e} S | 1 ° 60 INT.
T T ok 60 INT. ] = ||
APPROACH DEPARTURE 60 INT 60 INT. N £ Z
OFFSET POST OFFSET POST : : Z Ry
60INT. | = o 2
60 INT. = || z in - _
CAN BE FIXED WITH - || z i = o
CAST IN ANCHORS, DRILL z i - o
AND FIX ANCHORS OR 10 - o
PUSHED IN ANCHORS - o
AT 180x180 CENTERS o
o
S 5
7 T \ o I E ©
ol |° | o M o E-ﬂ o | o g Q 0
o H o i <
Tle e 03] Moo oo
| PLATE DIMENSION | | PLATE DIMENSION —

‘ MAX 700

BASEPLATE DRILL &

TAPPED FOR LIFTING EYE

‘ MAX 700

NPOO1 - A21
REINFORCING
RING

MR230 - SIGMA
100 POST
SOCKET x 420

MR231 - SIGMA
100 POST
SOCKET x 470

MR232 - SIGMA
100 POST
SOCKET x 520

MR203 - SIGMA
100 POST
SOCKET x 570

MR204 - SIGMA
100 POST
SOCKET x 620

MR205 - SIGMA

100 POST

SOCKET x 670

POST TOP DRILLING
ARRANGEMENT

v

TYPE 'A’

o
O
O

X

TYPE 'B'

2.5

31/05/22

OFFSET PLATE DETAIL

A.D

2.4

25/05/22

CHANGED
SURFACE MOUNTED POST
BASE CHANGED

A.D

2.3

21/05/15

DETAILS REVISED

L.L

REVn

DATE

DETAILS

INITIAL

MegaRail e
N2 B W3

N2.W3 ROAD RESTRAINT SYSTEM

COMPONENTS SCHEMATIC

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

SAFE

60)

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

t:

NCORD HOUSE,

01724 289119

®

DRAWING NUMBER:

N2W3-GA-00 v2.5




BEAM TO POST CONNECTION TYPE 1

AND BEAM TO BEAM LAP CONNECTION
(1 No / 4m BEAM)

o] ]\

\

\

\
\
\

Y

— X2 ROWS OF
CONNECTION BOLTS

—(1r1s0
!

S —T —T o T . : —T
© © / - ) \
8 = & = & G i =
. : 7
" =3 <
S -
=M
<+
2000 | 2000 | 2000
POST ‘—’3353\?\4
CONNECTION
TYPE 1 LAP
MIN. 1000
5 SIGMA 100 POST g_[
TRAFFIC FLOW A o 1
gl ®R
TYPE 1 CONNECTION — S #
-
SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM TABLE 'B' - SCHEDULE OF POST
SUTivEx SAFEROD REFERENCE NUMBERS AND LENGTHS
MANUFACTURING | UK PART DESCRIPTION QUANTITY OUTIMEX SAFEROAD | pocr
REFERENCE NUMBER MANUFACTURING | UK PART | POoT
REF. NUMBER
001.00M MROO1 | BEAM "A" PROFILE 1
003.28 MRO31 1100
004.00M MR035 | BRACKET STUB IRON 200 x 3 2
003.25M MRO32 1700
003.xx POST SIGMA 100 2
003.00M MRO33 1900
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING NUMBER N2W3-GA-02 003.27 MRO34 5100

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. FOR OPTIONS ON POST FOUNDATIONS REFER
TO DRAWING NUMBER MR-GA-020

4. FOR DEVIATIONS IN SYSTEM POST PITCH
REFER TO SECTION 8 OF SAFEROAD MEGARAIL
MANUAL, DEVIATION CHART

5. WHEN TYING INTO ADJACENT VRS ONLY ONE
WORKING WIDTH DIFFERENCE IS PERMITTED.

6. WHERE A KERB IS PRESENT THE MAXIMUM
KERB HEIGHT IS 125mm.

7. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
REFER TO SAFEROAD MEGARAIL MANUAL.

2.4 |25/05/22|  ADDRESS CHANGED AD

2.3 [21/05/15 DETIALS REVISED L.L

REVNn DATE DETAILS INITIAL

MegaRail e
N2 B W3

N2.W3 ROAD RESTRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT

SAFE )

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

N2W3-GA-01 v2.4




— RIGHT HAND BEAM

MR190

MR190

)Y

MR190
&
w02 .
>

BEAM TO BEAM LAP

CONNECTION ARRANGEMENT
(x2 LOCATIONS / BEAM END)

LEFT HAND BEAM

o

VARIES WILIH UFFSET DIMENSIUN

BEAM TO POST

CONNECTION TYPE 1

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST

OUTIMEX SAFEROAD BEAM TO OUTIMEX SAFEROAD TYPE 1
MANUFACTURING | UK PART DESCRIPTION BEAM MANUFACTURING | UK PART DESCRIPTION CONNECTION
REFERENCE NUMBER CONNECTION REFERENCE NUMBER
040.00 MR180 SETSCREW 4.6 LIP M16x27 c¢/w NUT 8 (+8) 040.04 MR182 SETSCREW 8.8 M16x45 c¢/w NUT 1
040.30 MR220 WASHER M16 18¢ HOLE 8 (+8) 010.40 MR160 WASHER PLATE 115 x 40 x 6 DIA. 18 1
040.30 MR220 WASHER M16 182 HOLE 1
QUANTITY OF CONNECTION TYPES / 4m BEAM
2 (+1)

** BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

2.4 (25/05/22 ADDRESS CHANGED A.D
2.3 |21/05/15 DETAILS REVISED L.L
REVn | DATE DETAILS INITIAL

MegaRail e
N2 B W3

N2.W3 ROAD RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFE )

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

N2W3-GA-02 v2.4




SIGMA 100 POST

I

SUPPORTING BRACKET

4P 14tb=o——tF———————0o |

N
U

0
0

— RIGHT HAND BEAM

NOTE: BEAM ORIENTATION CIRCULAR

HOLES TO BEAM APPROACH END
LEFT HAND BEAM
NOTE: BEAM ORIENTATION
TEARDROP HOLES TO BEAM TRAFFIC FLOW
DEPARTURE END

LEFT HAND BEAM RIGHT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

** BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

2.4 (25/05/22 ADDRESS CHANGED A.D
2.3 |21/05/15 DETAILS REVISED L.L
REVn | DATE DETAILS INITIAL

MegaRail e
N2 B W3

N2.W3 ROAD RESTRAINT SYSTEM.
BEAM LAPPING DETAIL FOR W3
MEGARAIL SYSTEM

SAFE )

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

N2W3-GA-03 v2.4




LENGTH OF NEED OF FULL HEIGHT FULL CONTAINMENT VRS - MIN. 40m

MINIMUM 30m

[APPROACH LENGTH]

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. MINIMUM LENGTH OF FULL HEIGHT VRS IS 40m

APPROACH TERMINAL, DEPARTURE TERMINAL,
TAPER OR TRANSITION REFER TO SYSTEM PROGRESSION DRAWING N2-W3 N2-W3 MIN. 7.5m N2-W3 TAPER OR TRANSITION
MIN. 10m LENGTH OF HAZARD [DEPARTURE LENGTH]
8
4. S
3283
SEE
z3 2
=
¥
(@]
P.S.B. 1 b <
TRAFFIC FLOW
2.4 |25/05/22 ADDRESS CHANGED A.D
2.3 [21/05/15 DETAILS REVISED LL
REVn DATE DETAILS INITIAL

MegaRail e
N2 B W3

ROAD RESTRAINT SYSTEM.
SYSTEM PROGRESSION SCHEMATIC
FOR N2.W3 PROTECTION TO HAZARD

SAFE )

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

N2W3-GA-10 v2.4




40

‘ 4300 ‘ 63
1T [
T n
- - S — S
3 |== = = : =
001.00M - "A" PROFILE BEAM
115
|
@18 0 S
- 180
M16 L
010.40 - WASHER PLATE M16 . 040.00 - SETSCREW 4.6
115 x 40 x 6 DIA. 18 LIP M16x27 c/w NUT
040.04 - SETSCREW 8.8
M16x45 c/w NUT
o
2
o

PLATE DIMENSION

700 MAX

@ @18

040.30 - M16
WASHER 18» HOLE

PLATE DIMENSION

700 MAX

SURFACE MOUNTED
POST ™\

SURFACE MOUNTED

,//  POST

TBD
O/ALL HEIGHT
TBD
O/ALL HEIGHT

50

=1~

DEPARTURE
OFFSET POST

APPROACH

OFFSET POST CAN BE FIXED WITH

CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR
PUSHED IN ANCHORS
AT 180x180 CENTERS

400
o
o
400
o
o

PLATE DIMENSION
700 MAX

=] (

005.71 - BRACKET SINGLE
SPACER RIGHT 340mm

PLATE DIMENSION
700 MAX

BASEPLATE DRILL &
TAPPED FOR LIFTING EYE

EIgn

005.70 - BRACKET SINGLE
SPACER LEFT 340mm

—

NPOO1 - A21
REINFORCING
RING

63

125

1900

63 63

22 . ‘«

L0 L0

N N

i i

o

o
S
i
Ll

o

<)

~

i

063.20/9 - TYPE 'A'
POST "C" 125 1100mm

063.20/6 - TYPE 'A'
POST "C" 125 1700mm

063.20/7 - TYPE 'A'
POST "C" 125 1900mm

063.20/8 - TYPE 'A'

POST "C" 125 2100mm

10 0

n o

S R

v 100
‘150‘
(o]

[a)

@

[N

‘ 220 ‘

SURFACE MOUNTED -
TYPE 'A' C-125 POST

4THICK ||

POST TYPE

IDENTIFICATION

1

)

TYPE 'A’

5 THICK

|e—

J

:

TYPE 'B'

OFFSET PLATE DETAIL

2.4 [25.05.22 BASE CHANGED A.D
2.3 [20.05.15 DETAILS REVISED M. T
REVN DATE DETAILS INITIAL

MegaRail sl
H1 A W4 /N2 A W4

H1.W4 AND N2.W4 (DUAL

CLASSIFICATION) ROAD RESTRAINT
SYSTEM COMPONENTS SCHEMATIC

65 INT. -
65 INT.
65 INT. | =N
65 INT. - = ©
65 INT. || = @ sl
- 1Tk I: o S
= — N -
- [ A T
(=1 ~ _
© -
o -
SR
o
o 8 o
o ~ O
o o n
N [Tp)
R
MR220 - C-125  MR221-C-125  MR222-C-125  MR223-C-125  MR224 - C-125
POST SOCKET ~ POST SOCKET ~ POST SOCKET ~ POST SOCKET ~ POST SOCKET
x 470 X 520 x 570 X 620 X 670

SAFE

CONCORD HOUSE,

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

®

DRAWING NUMBER:

H1/N2W4-GA-00 v2.5




BEAM TO BEAM LAP CONNECTION
(1 No / 4m BEAM)

— X2 ROWS OF
CONNECTION BOLTS

! MR180 | MR1
— -5 =T (1Y)
&= MR180 | MR190
\ oA::j o~ / \\
| S—
MR15x MR100 s s MR180 | MR190
y J \
N \
N\ \
\\ \
N \
= R R = h = \\ il
© s N I
S z5) =3 z5) = ~1 z5) ] =5 | =D
P ) ) \ P S e -
g | |
o POST TO SPACER AND
¥ SPACER TO BEAM
CONNECTIONS
/ (2 No / 4m BEAM)
2000 2000 2000
MIN. 1300
: ' POST C 125 —/ e
—— POST SPACER CONNECTION N 2 No. POST SPACER CONNECTION 7{' / —Y
/
\\ I
— - —— .
] ] N 1] 9
_____ 1 1 e ~
| S il 3 :
\ N 300 BEAM e o}
\\ \\ [ I LAP =2
TYPE 1 SPACER BEAM TYPE 2 SPACER AN TYPE 1 SPACER —
CONNECTION BEAM CONNECTION\ AN BEAM CONNECTION
\
\
\
TRAFFIC FLOW = .
s GENERAL NOTES: MegaRall SI
\ 1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
\
\ ON-COMING TRAFFIC. H1 AW4 /N2 AW4
\ 2. FOR OPTIONS ON POST FOUNDATIONS REFER
\ TO DRAWING NUMBER MR-GA-020 H1.W4 AND N2.W4 (DUAL
3. FOR DEVIATIONS IN SYSTEM POST PITCH CLASSIFICATION) ROAD RESTRAINT
REFER TO SECTION 8 OF SAFEROAD MEGARAIL ASSEMBLY & SETTING OUT
MANUAL, DEVIATION CHART. ARRANGEMENT
4. WHEN TYING INTO ADJACENT VRS ONLY ONE
— WORKING WIDTH DIFFERENCE IS PERMITTED. ®
TABLE 'A' - SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM 5 WHERE A KERB IS PRESENT THE MAXIMUM S A F E
OUTIMEX SAFEROAD TABLE 'B' - SCHEDULE OF POST KERB HEIGHT IS 125mm.
MANUFACTURING | UK PART DESCRIPTION QUANTITY REFERENCE NUMBERS AND LENGTHS 6. FOR MINIMUM LENGTH OF FULL HEIGHT VRS CONCORD HOUSE,
REFERENCE NUMBER OUTIMEX SAFEROAD | pocr REFER TO SAFEROAD MEGARAIL MANUAL. BESSEMER WAY, SCUNTHORPE,
001.00M MR001 BEAM "A" PROFILE 1 MANUFR/’-\EC;I'URING HE ;/QE; LENGTH NORTH LINCOLNSHIRE, DN15 8XE
063.20/x SEE TABLE 'B' | POST "C" 125 2 063 26/9 t: 01724 289119
. MROS0 1100
either 005.70M MR087 BRACKET SINGLE SPACER LEFT 340mm 2 063.20/6 FOR TECHNICAL ASSISTANCE CONTACT
. MRO82 1700 : :
or 005.71M MR0O88 | BRACKET SINGLE SPACER RIGHT 340mm 2 john,cudlipp@saferoad.co.uk
063.20/7 MR084 1900 2.4 |25.05.22| E-MAIL ADDRESS CHANGED | A.D | brAWING NUMBER:
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING NUMBER MR-GA-W4HN-02 063.20/8 MROS6 5100 53 1200515 DETAILS REVISED MT H1i /N2W4-G A-01 v2.4

REVNn DATE DETAILS INITIAL




RIGHT HAND BEAM
LEFT HAND BEAM

P

g
§
it

RCD

BEAM TO BEAM CONNECTION
ARRANGEMENT

MR220

\%0/,

MR220

MR220

W

MR220

MROOD @Rom

MR220

.

MR182> @lmsz

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

2. VERGE AND CENTRAL RESERVE BRACKET

SPACERS ARE HANDED AND NOT

——x- INTERCHANGEABLE.

SPACER TO BEAM
CONNECTION TYPE 1

SPACER TO BEAM
CONNECTION TYPE 1

(x2 LOCATIONS / BEAM END) [VERGE] [CENTRAL RESERVE]
BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM BOLTING COMPONENT SCHEDULE - QUANTITIES / POST
OUTIMEX SAFEROAD BEAM TO OUTIMEX SAFEROAD TYPE 1
MANUFACTURING | UK PART DESCRIPTION BEAM MANUFACTURING UK PART DESCRIPTION CONNECTION
REFERENCE NUMBER CONNECTION REFERENCE NUMBER
040.00 MR180 | SETSCREW 4.6 LIP M16x27 c/w NUT 8 (+8) 040.00 MR180 SETSCREW 4.6 LIP M16 x 27 ¢/w NUT 2
040.30 MR220 | WASHER M16 18 HOLE 8 (+8) 040.04 MR182 SETSCREW 8.8 M16x45 c/w NUT 1
010.40 MR160 WASHER PLATE 115 x 40 x 6 DIA. 18 2
** BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR 040.30 MR220 WASHER M16 185 HOLE 3
CENTRAL RESERVATION INSTALLATIONS THE REFERENCES ARE REVERSED
QUANTITY OF CONNECTION TYPES / 4m BEAM 2.4 [25.05.22| E-MAIL ADDRESS CHANGED | A.D
2(+1) 2.3 |20.05.15 DETAILS REVISED M.T
REVn DATE DETAILS INITIAL

)
e GO

——-—H-8

)

OPEN FACE OF

TRAFFIC FLOW

SPACER BEAM TO POST
CONNECTION TYPE 1

CHANNEL POST

MegaRail sl
H1 A W4 /N2 A W4

H1.W4 AND N2.W4 (DUAL
CLASSIFICATION) ROAD RESTRAINT
SYSTEM BOLTING ARRANGEMENTS

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H1/N2W4-GA-02 v2.4




I POST C125

: °

LEFT HAND BEAM
NOTE: BEAM ORIENTATION
TEARDROP HOLES TO BEAM
DEPARTURE END

RIGHT HAND BEAM
NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END

TRAFFIC FLOW

LEFT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

RIGHT HAND BEAM

SPACER TO BEAM CONNECTION
[VERGE]

I POST C125

° ::

oo

LEFT HAND BEAM

NOTE: BEAM ORIENTATION
CIRCULAR HOLES TO BEAM
APPROACH END

TRAFFIC FLOW

RIGHT HAND BEAM
NOTE: BEAM ORIENTATION TEARDROP
HOLES TO BEAM DEPARTURE END

LEFT HAND BEAM
LAPPED BEHIND RIGHT HAND BEAM

RIGHT HAND BEAM

SPACER TO BEAM CONNECTION

[CENTRAL RESERVE]

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

2.5 [25.05.22| E-MAIL ADDRESS CHANGED | A.D

2.4 |20.05.15 DETAILS REVISED M.T

REVNn DATE DETAILS INITIAL

MegaRail sl
H1 A W4 /N2 A W4

H1.W4 AND N2.W4 (DUAL
CLASSIFICATION) ROAD RESTRAINT
BEAM LAPPING DETAIL FOR W4
MEGARAIL SYSTEM

SAFE ®

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H1/N2W4-GA-03 v2.5




LENGTH OF NEED OF FULL HEIGHT FULL CONTAINMENT VRS - MIN. 44m

GENERAL NOTES:
1. P.S.B. = POINT FROM WHERE SET-BACK IS

MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE

ON-COMING

TRAFFIC.

3. MINIMUM LENGTH OF FULL HEIGHT VRS IS 44m

APPROACH TERMINAL, N2-W4 N2-W4 DEPARTURE TERMINAL,
TAPER OR N2 SAFETY BARRIER (BIRSTA W2) H1-w4 H1-w4 MIN. 10.5m H1-W4 (BIRSTA W2) TAPER OR N2 SAFETY BARRIER
MIN. 4m APPROACH MIN. 30m LENGTH OF HAZARD [DEPARTURE LENGTH] MIN. 4m

AVAILABLE WORKING
WIDTH MINIMUM 1300 |

P.S.B. 1

SET
BACK

TRAFFIC FLOW

2.5 [25.05.22

E-MAIL ADDRESS CHANGED

A.D

MegaRail sl
H1 A W4 /N2 A W4

H1.W4 AND N2.W4 (DUAL
CLASSIFICATION) ROAD RESTRAINT
SYSTEM COMPONENTS SCHEMATIC

SAFE

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119

®

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H1/N2W4-GA-10 v2.5




306
11

:

=

115

40

212
-2

SR152 - T_010.10 -
WASHER PLATE 115 x40 x 5

SR0O01 - 001.00M

45
 i—

M10

- "A" PROFILE BEAM

B

M16

SR200 - 040.00 -
SETSCREW 4.6 LIP

50

DIA.12 SR124 - 040.54 - M16x27 c/w NUT
SETSCREW 8.8
M10x45 c/w NUT
@ @11 218
SR301 - 040.60 - SR300 - 040.30 -
M10 WASHER 11¢ HOLE M16 WASHER 18¢ HOLE
PLATE DIMENSION PLATE DIMENSION
700 MAX 700 MAX
: — = :
SURFACE MOUNTED & S SURFACE MOUNTED
POST "\ ol ol POST
Ll ) [l )
Ll T L
Q i O le) i
' APPROACH DEPARTURE '
OFFSET POST CAN BE FIXED WITH OFFSET POST
CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR
PUSHED IN ANCHORS
AT 180x180 CENTERS
d 00 00 .
sl ! } g [T !
e te () T T o
PLATE DIMENSION PLATE DIMENSION
700 MAX 700 MAX

BASEPLATE DRILL &
TAPPED FOR LIFTING EYE

—

SR100 - NPOO1 -
A21
REINFORCING
RING

65 INT.

325

63 63 63 63
n n n n
S S S S

o o o o
o
S
=
—
o
=
=
o
=}
S
o
S
S
N

1800mm x 5

SR048 - 063.25/3 -
TYPE 'B' POST "C" 125
2000mm x 5

128 INT

470

SR080 - C-125
POST SOCKET
X 470

65 INT.

65 INT.

128 INT

520

SR081 - C-125
POST SOCKET
x 520

SR046 - 063.25 -

[0 0}

230

150

TBD

TYPE 'B' POST "C" 125

1600mm x 5

SR047 - 063.25/2 -
TYPE 'B' POST "C" 125

128 INT

570

SR083 - C-125
POST SOCKET
x 570

65 INT.

128 INT

SR049 - 063.25/1 -
TYPE 'B' POST "C" 125
1100mm x 5

620

C-125 POST
SOCKET
x 620

‘ 220 ‘

65 INT.

128 INT

SURFACE MOUNTED -
TYPE 'B' C-125 POST

670

C-125 POST
SOCKET
x 670

1.5 [12/01/23| BOLT GRADE AMENDMENT | H.B
OFFSET PLATE DETAIL

1.3 [25.05.22 BASE CHANGED AD

1.2 |03.06.15] POST HEIGHTS REVISED M.T

1.1 [20.05.15 DETAILS REVISED M.T

REVNn DATE DETAILS INITIAL

MegaRail ec4.4
H2 A W4

H2.W4 ROAD RESTRAINT SYSTEM
COMPONENTS SCHEMATIC

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W4-GA-00 v1.5




BEAM TO BEAM LAP CONNECTION

@

(1 No / 4m BEAM)

— x2 ROWS OF
CONNECTION BOLTS

SR200 )\ SR300

() 50)
==rohen

4 e —
I [=)
— =/
——— e

MegaRail ec4.4

| | | | | | | |
L3 T L T T T r_3 1 3 \ 1 1 1
= 1 = 1 1 1 7 = 1 = \\ 1 1 1
8 |== = = = S — - = = =
1 1 1 1 1 1 1 1
s 1 ) 1 1 1 - 1 1 1 1
8 T T T T U T T T
-
(o))
™
1333 1334 1333 1333 1334
POST POST CONNECTION POST CONNECTION POST CONNECTION
CONNECTION TYPE 1 TYPE 1 TYPE 1 . ,
TYPE 1 7 s
00 MIN. 1000
o POST C 125
/ \ D 7 g // —l
T I 7 N N LY
- N S0,
= — :
300 300 S i
SEAN TRAFFIC FLOW SEAM 7 . I sl
LAP LAP g b Il H
S0 I 1 o
7 I )
7 N
v 11
o
[*°)
BRACING
( BRACKET
GENERAL NOTES:
o 1. POSTS ARE TO BE INSTALLED WITH THE
n

ELEVATION ON AA

C-125 POST

TABLE 'A" - SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM

TABLE 'B' - SCHEDULE OF POST
REFERENCE NUMBERS AND LENGTHS

OUTIMEX SAFEROAD
MANUFACTURING UK PART DESCRIPTION QUANTITY
REFERENCE NUMBER
001.00M MRO01 BEAM "A" PROFILE 1
063.25/x SEE TABLE 'B' | POST "C" 125 c¢/w BRACKET 3

FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING NUMBER H1W3-GA-02

OUTIMEX SAFEROAD POST
MANUFACTURING | UK PART LENGTH
REF. NUMBER
063.25/1 MR120 1100
063.25 MR121 1600
063.25/2 MR122 1800
063.25/3 MR123 2000

CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

2. FOR OPTIONS ON POST FOUNDATIONS REFER
TO DRAWING NUMBER MR-GA-020

3. WHEN TYING INTO ADJACENT VRS ONLY ONE
WORKING WIDTH DIFFERENCE IS PERMITTED.

4. WHERE A KERB IS PRESENT THE MAXIMUM
KERB HEIGHT IS 125mm.

5. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
REFER TO SAFEROAD MEGARAIL MANUAL.

H2 A W4

H1.W3 ROAD RESTRAINT SYSTEM
ASSEMBLY & SETTING OUT
ARRANGEMENT

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W4-GA-01 v1.5

1.5 |12/01/23| BOLT CODE AMENDMENT H.B
1.4 [25.05.22| E-MAIL ADDRESS CHANGED | A.D
1.3 [02.11.15| BARRIER HEIGHT REVISED | L.L
1.2 |03.06.15| BARRIER HEIGHT REVISED | M.T
1.1 [20.05.15 DETAILS REVISED M.T
REVN DATE DETAILS INITIAL




RIGHT HAND BEAM
LEFT HAND BEAM

Ga)

o
G- S
&
G2 ’

(sra0m)

o)

BEAM TO BEAM CONNECTION

ARRANGEMENT
(X2 LOCATIONS / BEAM END)

BEAM TO POST
CONNECTION TYPE 1

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST

OUTIMEX SAFEROAD BEAM TO OUTIMEX SAFEROAD TYPE 1
MANUFACTURING | UK PART DESCRIPTION BEAM MANUFACTURING | UK PART DESCRIPTION CONNECTION
REFERENCE NUMBER CONNECTION || REFERENCE NUMBER
040.00 SR200 | SETSCREW 4.6 LIP M16x27 c/w NUT 8 (+8) 040.54 SR124 | SETSCREW 8.8 M10 x 45 ¢/w NUT 1
040.30 SR300 | WASHER M16 18¢ HOLE 8 (+8) T_010.10 SR152 | WASHER PLATE 115 x 40 x 5 DIA. 12 1
40.60 SR301 | M10 WASHER 11¢ HOLE 1
** BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR QUANTITY OF CONNECTION TYPES / 4m BEAM
CENTRAL RESERVATION INSTALLATIONS THE REFERENCES ARE REVERSED oD
+

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

2. POST STRAPS ARE INTERCHANGEABLE BETWEEN
VERGE & CENTRAL RESERVE.

1.3 |12/01/23| BOLT GRADE AMENDMENT | H.B

1.2 |25.05.22| E-MAIL ADDRESS CHANGED | A.D

1.1 ]20.05.15 NOTES REVISED M.T

REVNn DATE DETAILS INITIAL

MegaRail ec4.4
H2 A W4

H1.W3 ROAD RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W4-GA-02 v1.3




£ POST C125
?
|
|
|
|
|
|
|
I
|
|
1
I

| RIGHT HAND BEAM
I NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END
LEFT HAND BEAM
NOTE: BEAM ORIENTATION
TEARDROP HOLES TO BEAM
DEPARTURE END

TRAFFIC FLOW

300

|
LEFT HAND BEAM BEAM RIGHT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

1.2

25.05.22

E-MAIL ADDRESS CHANGED

A.D

1.1

20.05.15

REVn BOX ADDED

M.T

REVn

DATE

DETAILS

INITIAL

MegaRail ec4.4
H2 A W4

H1.W3 ROAD RESTRAINT SYSTEM
BEAM LAPPING DETAIL FOR H1 A W3
MEGARAIL SYSTEM

SAFE

CONCORD HOUSE,

t: 01724 289119

®

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W4-GA-03 v1.2




LENGTH OF NEED OF FULL HEIGHT FULL CONTAINMENT VRS - MIN. 44m

MINIMUM 30m

[APPROACH LENGTH]

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. MINIMUM LENGTH OF FULL HEIGHT VRS IS 44m

APPROACH TERMINAL, N2-W4 N2-W4 DEPARTURE TERMINAL,
TAPER OR N2 SAFETY BARRIER (en) H1-W4 H1-w3 H1-w3 MIN. 10.5m H1-W3 H1-w4 (en) TAPER OR N2 SAFETY BARRIER
MIN. 4m MIN. 14m MIN. 4m MIN. 4m

AVAILABLE WORKING

IDTH MINIMUM 1100

|
LENGTH OF HAZARD ‘ [DEPARTURE LENGTH]

GIHIIIIIIIIIIIIIIIIIS

GIHIIIIIIIINIIIINS

GINIIIIIIIIIIIIIIIIITIIIINIIIOTNIY.

P.S.B. 1

m

g
s

TRAFFIC FLOW

MegaRail ec4.4
H2 A W4

H1.W3 ROAD RESTRAINT SYSTEM
SYSTEM PROGRESSION SCHEMATIC
FOR H1 W3 PROTECTION TO HAZARD

SAFE )

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

1.2

25.05.22

E-MAIL ADDRESS CHANGED

AD

DRAWING NUMBER:

1.1

20.05.15

DETAILS REVISED

M.T

H2W4-GA-10 v1.2

REVn

DATE

DETAILS

INITIAL




306

40

50

I~

| 4300 |
63
—— —— i
— 7= £ 2 =) 5 |
001.00M - "A" PROFILE BEAM T
115
(Y
S S LD
=
O ( 0D
M16 .
M16
T_010.00 - WASHER 040.00 - SETSCREW 4.6
PLATE 115 x40 X 5 040.01 - SETSCREW 4.6  LIP M16x27 c/w NUT
TEAR DROP LIP M16x40 c/w NUT
o
o
i
(o]

PLATE DIMENSION

700 MAX

SURFACE MOUNTED
POST ™\

@ @18

040.30 - M16
WASHER 18» HOLE

PLATE DIMENSION

TBD
O/ALL HEIGHT
TBD
O/ALL HEIGHT

700 MAX

SURFACE MOUNTED

/  POST

50

APPROACH
OFFSET POST

CAN BE FIXED WITH

CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR

PUSHED IN ANCHORS
AT 180x180 CENTERS

DEPARTURE
OFFSET POST

400

400

00 o |\°
00

PLATE DIMENSION

PLATE DIMENSION

700 MAX

700 MAX

63 - 63 — 63 —
n n LN
S S S
I
o
N
o
i
o
o
5
o
o
3
063.23/3 - TYPE 'B' POST
"C" 125 1250mm x 5

IICII 125

063.23/1 - TYPE 'B' POST
"C" 125 1900mm x 5

063.23/2 - TYPE 'B' POST
"C" 125 2100mm x 5

BASEPLATE DRILL &
TAPPED FOR LIFTING EYE

000
o

006.96M - BRACKET
DOUBLE SPACER 780mm

—

NPOO1 - A21
REINFORCING
RING

063.23/M - TYPE 'B' POST

1700mm x 5

325

=
H
230

TBD

0 O

‘150‘

220

SURFACE MOUNTED -
TYPE 'B' C-125 POST

POST TYPE

IDENTIFICATION
| 1
4THICK || 5THICK _||_
J J

65INT. gl
65 INT. S I
65 INT. 1] = ©
65 INT. - = o O
= % =
= 1T = N -
= [e¢] -
= ~ -
foo) —
S |:| T
o =
o R o ©
o o n
~ n
5
MR220 - C-125 ~ MR221-C-125  MR222-C-125  MR223-C-125  MR224 - C-125
POST SOCKET ~ POST SOCKET ~ POST SOCKET ~ POST SOCKET ~ POST SOCKET
x 470 x 520 x 570 x 620 x 670

1 [

TYPE 'A’

TYPE 'B'

OFFSET PLATE DETAIL

2.4 [25.05.22 BASE CHANGED A.D
2.3 [21.05.15 DETAILS REVISED M.T
REVNn DATE DETAILS INITIAL
MegaRail d
H2.W5 ROAD RESTRAINT SYSTEM
COMPONENTS SCHEMATIC

®

SAFE

CONCORD HOUSE,

BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W5-GA-00 v2.5




SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m RUN TYPE 1 SPACER BEAM CONNECTION %2 ROWS OF TABLE 'B' - SCHEDULE OF POST GENERAL NOTES:
AND BEAM TO BEAM CONNECTION CONNECTION BOLTS REFERENCE NUMBERS AND LENGTHS 1. P.S.B. = POINT FROM WHERE SET-BACK IS
OUTIMEX | SAFEROAD MEASURED
REFERENCE UK PART DESCRIPTION QUANTITY (1 No / 4m BEAM) OUTIMEX SAFEROAD | oocr -
NUMBER NUMBER MANUFACTURING | UKPART | colr 2. POSTS ARE TO BE INSTALLED WITH THE
— MR180 Y MR190 REF. NUMBER CLOSED FACE OF THE CHANNEL TOWARDS THE
001.00M MR100 | BEAM "A" PROFILE 2 063.23/3 3 550 ON-COMING TRAFFIC WITH THE SMALLEST
063.23xx | SEE TABLE 'B' | POST "C" 125 x 5mm 2 e \ g MR14 125 BIAS.
: w.MRISO .MR190
006.96M MR162 | BRACKET DOUBLE SPACER 780 = 7\ 063.23M MR140 1700 3. FOR OPTIONS ON POST FOUNDATIONS REFER
. mm 2 \
063.23/1 MR141 1900 TO DRAWING NUMBER MR-GA-020
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING NUMBER = MR180 | MR190 o 4. FOR DEVIATIONS IN SYSTEM POST PITCH
MR-GA-W5-02 \ 063.23/ MR142 2100 REFER TO SECTION 8 OF SAFEROAD MEGARAIL
R100 \ MANUAL, DEVIATION CHART.
N . 5. WHEN TYING INTO ADJACENT VRS ONLY ONE
. = =3 WORKING WIDTH DIFFERENCE IS PERMITTED.
3 @ \
= = , - — = ES 6. WHERE A KERB IS PRESENT THE MAXIMUM
- _ — -H KERB HEIGHT IS 125mm.
— ES E3 ES N 7. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
- . n - REFER TO SAFEROAD MEGARAIL MANUAL.
| |
| |
| |
| |
' !
MR14x | C—
° ) H /
ES 5 & 5 l\ —
N
N
S — x2 ROWS OF
e . 7< CONNECTION BOLTS
° - -
@ . _f)' . - ‘_f';' 2 2.5 |25.05.22| E-MAIL CONTACT CHANGED | A.D
0 T T MR180 \MR190 2.4 |21.05.15|  DETAILS REVISED M.T
~ ° \ REVn DATE DETAILS INITIAL
o MR180  MR190
2 == R
\ H2 A W5
H2.W5 ROAD RESTRAINT SYSTEM
TRAFFIC FLOW 3°0U§*§AM ‘ ASSEMBLY & SETTING OUT
o =T ARRANGEMENT
N Y o -] —h —a ___—C
SAFE ’
000 K77 \2(\5‘0
d N n N
= POST SPACER CONNECTION [' ['

TOP OF
POST

|1
| |
| ||— post
|| C 125

575 £50
NOM. 725

PSB DATUM LEVEL

TYPE 1 SPACER BEAM
CONNECTION

TRAFFIC FLOW

! 300 BEAM

LAP

TYPE 1 SPACER —
BEAM CONNECTION

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W5-GA-01 v2.5




RIGHT HAND BEAM
LEFT HAND BEAM

P

PN

o

BEAM TO BEAM CONNECTION

ARRANGEMENT
(x2 LOCATIONS / BEAM END)

RIGHT HAND BEAM
LEFT HAND BEAM

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM
OUTIMEX SAFEROAD BEAM TO
MANUFACTURING | UK PART DESCRIPTION BEAM
REFERENCE NUMBER CONNECTION
040.00 MR180 SETSCREW 4.6 LIP M16x27 c/w NUT 8 (+8)
040.30 MR190 WASHER M16 183 HOLE 8 (+8)

RIGHT HAND BEAM
LEFT HAND BEAM

| &(/!r&/ 000

> /&)
=
>

SPACER TO BEAM
CONNECTION TYPE 1

TRAFFIC FLOW

SPACER BEAM TO POST
CONNECTION TYPE 1

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST
OUTIMEX SAFEROAD TYPE 1
MANUFACTURING UK PART DESCRIPTION CONNECTION
REFERENCE NUMBER
040.00 MR180 SETSCREW 4.6 LIP M16 x 27 c/w NUT 2
040.01 MR181 SETSCREW 4.6 LIP M16 x 40 c/w NUT 2
010.00 MR172 WASHER PLATE 115 x 40 x 6 TEARDROP 2
040.30 MR190 WASHER M16 183 HOLE 4
QUANTITY OF CONNECTION TYPES / 4m BEAM
2(+1)

OPEN FACE OF
CHANNEL POST

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

2.6 |25.05.22| E-MAIL ADDRESS CHANGED | A.D

2.5 [21.05.15 DETAILS REVISED M.T

REVNn DATE DETAILS INITIAL

MegaRail d
H2 A W5

H2.W5 ROAD RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFE ®

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W5-GA-02 v2.6




TRAFFIC FLOW

CENTRAL
RESERVE

H2 W5

(]

—r—

4 BIFURCATION - MIN. 5 BEAMS @ 4000

H1 W

==}
==}
==}
==}
==

==
=

MIN 4M N2 W4 (GA-W4-01)

‘ ]

MIN. 1300

MIN. 1300

|

[

TRAFFIC FLOW

TRAFFIC FLOW

H2 W5

MIN 4M N2 W4 (GA-W4-01)

H1 W4 BIFURCATION - MIN. 3 BEAMS @ 4000

|

(1

(1
(1

—ocr

—_—

——

0

CENTRAL RESERVE

0
0

L‘T'Mﬂ»
L= |

TRAFFIC FLOW

GENERAL NOTES:

1. FULL LENGTH OF BIFURCATION ARRANGEMENT
IS TO BE INSTALLED AS H1 W4 UNTIL W4
WORKING WIDTH IS ATTAINED BETWEEN THE
FRONT FACE OF EITHER BEAM AND THE REAR
FACE OF THE POST TO THE OPPOSING SIDE.

2. MINIMUM OF 4m OF N2 W4 (GA-W4-01) SYSTEM
TO BE INSTALLED BEYOND THE EXTENT OF THE
BIFURCATION ARRANGEMENT.

2.4 |25.05.22| E-MAIL ADDRESS CHANGED | A.D

2.3 [21.05.15 DETAILS REVISED M.T

REVNn DATE DETAILS INITIAL

MegaRail d
H2 A W5

ROAD RESTRAINT SYSTEM
CENTRAL RESERVE BIFURCATION
GENERAL ARRANGEMENT

SAFE ®

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H2W5-GA-50 v2.4




Copyright Birstaverken AB

Ay

000168

ou buimeug

|

Side view

i [

Top view

600:10

e
|
P

|

|

. |l
L L

Post in Foundation 1:10

Nl

| iR

Joint 1:10

L 1 Cover for foundation PE LD Article no. 8920540
3 1 Foundation for post Article no. 8920318
2 1 |C-post for foundation assembly Assembly no. 8920302A
1 1 |Square pipe assembly 8m Assembly no. 8920201A
Item No. | Qty. Description Material Dimension Note
Design Drawn Copied Cantrol Stand |Appr Scale 150 Replaces Replaced by

. . Filename Date
Y sirerevertenan_ | DIrsta 1P, Guardrail cc 4mp810002 1 2005-12-71
wmo-zm meon-nzsezze P0ST N foundation 8910002




0L00L68

ou buimelqg

Copyright Birstaverken AB

Anchor 2.6 m

Side view
=N oy
Gy @
Top view

6 2 " Nail" Assembly no. 8910070

5 6 |M6x55TT Marutex A2 Article no. 1132550320

L 1 Cover POLYSTONE G-BLACK HD Article no. 8920508

3 1 Anchor " box " Article no. 8920509

2 1 |Transition pipe Assembly no. 8920206A

1 1 |Birsta 1P, Guardrail Assembly no. 8910002

Item No. | Qty. Description Material Dimension Note

Design Drawn Copied Confrol |Appr Scale 10 Replaces Replaced by
Filename Date

[ Sirssovertenas_ | BIrsta 1P, Guardrail 8910010 1 2008-17-21

Tel: 080 - 527200 [Fax: 060 - 82 72 15, §2 72 16 AnChor SP 2.6 m 8910010




0200168

ASY ou buimelqg

Copyright Birstaverken AB

H ‘ 1 1 T
il [ | LA
/ f I 1]
I I L
H H —
| |
|| ||
Side view L] L]
2250 7000 900 215
L o] T ] N ~— F 7 -~
@ @ | G . 2 0|® @ a - [ @ u‘ /\\ /\\
fwwﬁ‘@ fEoloo |\ H | ! ! g M<27L777<Q
[

Top view 1 o [Nail” Assembly no. 8910070
10 1 |Cover POLYSTONE G-BLACK HD Article no. 8920508
9 6 [M6x5,5 TT Marutex A2 Article no. 1132550320
8 1 |Anchor "box” Article no. 8920510
7 2 |RB 17x30 BRB VFZ HB 200 Article no. 1126173400
6 2 [M16x35 MéS 8.8 VFZ Article no. 1120160350
5 1 |Nutplate Article no. 8920501
b 1 Support Article no. 8920329
3 1 Square pipe Assembly 6 m Assembly no. 89202022A
2 1 |Transition pipe Assembly no.8920207A
1 1 Birsta 1P, Guardrail Assembly no. 8910002
Item No. | Qty. Description Material Dimension Note
Design Drawn Copied Cantrol Stand |Appr Scale 120 Replaces Replaced by

Filename Date

[ Sirssovertenas_ | DIrsta 1P, Guardrail e
Tel: G60-527200 [Fax: 080 -62 72 15, 52 72 16 AnChor SP 8.L§' m 8910020




Copyright Birstaverken AB

0€00L68

ATy ou bumeu
i
i
L
Side view
4000
] T
‘Vﬁ: 15 5
Top view
1 1 " Nail " Article no. 8920515
5 L |M30 M6M 8.8 VFZ Article no. 1123300000
A L |RB 34x58 SRB VFZ Article no. 1126345800
6 2 |Tierod M30 x 1800 |Article no. 8920518
3 1 Ground tie rod bracket Article no. 8920513
2 1 Upper fie rod bracket Article no. 8920514
1 1 |Birsta 1P Assembly no. 8910002
Item No. | Qty. Description Material Dimension Note
Design Drawn Copied Control Stand |Appr Scale 120 Replaces Replaced by
. . Filename Date

[ sirsrevertenas_| DIrsta 1P, Guardrail AR | e
oz mm-znsezze| | 1€ F0d anchor 8910030




Copyright Birstaverken AB

A3y

0500168

ou buimelqg

2 3 L
A 3x fasf open joinf A
@w - i 5 jiSiE] -
! /
L 4000 Ji 4000 EL 4000 |
I I I I
. . 2x (-Post removable
Side view L
- nof mounted in rall
I L2 = Hl 3 e i
Top view
4000 | 4000
!
2x Squarepipe 3.76 m removed
- 2x (-Post removed -
i I | S
l I I I
Side view, open
0BS!
At the removable section, the posts
must NOT be mounted to the squarepipe
\
% N § —
0 || || o0 \ \
FR=8 T=E=f= —t | |
SIS SR B ‘ ‘
‘ ‘ ©) A 3 |Joint cover Article no. 8920536
F@ﬁ@j@t@téﬂ | | 3 3 |Fast opening joinf Assembly no. 8920415A
T‘T*:* \ \ B 2 2 |Squarepipe 3.76 m Assembly no. 8920208A
I | @ | I 1 [t |Birsta 1P, Guardrail Assembly no. 8910002
%@*@ 1@£@:@ﬁ Item No. | Qty. Description Material Dimension Note
T T T Design Drawn Copied Cantrol Stand |Appr Scale 1 50 Replaces Replaced by
Joint Removable posfs - - 8510050 |'3009-12-21
(10) (15) [ Sirssovertenas_ | BIFSta 1P,_Guardra|l s —12-L
Tel: 080 - 527200 [Fax: 060 - 82 72 15, §2 72 16 Fasf Openlng 8910050




220 POST TOP DRILLING

R
4300 ‘ 55 N 55 N 55 N 55 ‘« o [] [] ARRANGEMENT
== —| = g g g = = o 0
8 —P /1 C3) <p b L = = — — A ~ O O
—= - - - - Q Q o
SR600 - 2mm BEAM o o ° o 150 ] O
o o o) o ™
o o o o y ]
8 X v
\ © TYPE 'A' TYPE 'B'
l a
m
/ =
o
=1
i
NOTE: THIS HOLE IDENTIFIES THE REQUIRED 1
ORIENTATION OF THE BEAM AND THE BEAM ‘ 220 ‘
END WITH THE ADDITIONAL HOLE SHOULD
BE SITED AS THE REAR BEAM AT LAP JOINTS SURFACE MOUNTED TYPE
o 'B' SIGMA 100 POST
&
WASHER PLATE 115x40x5 8
o PR S E—
1 07 — S SR614 - TYPE B!
' i "1 R, (D & POST SIGMA 100
WASHER 230d x 13.58 @ 1100mm
HOLE x 2.7mm THICK -
i M16 o
~ OFFSET PLATE DETAIL
SR635 - SETSCREW 4.6 07 pB1/05/22 CHANGED A.D
SR632 - BOLT 4.6 M10x35 c/w NUT, LIP M16x27 c/w FLANéE 06 [25/05/22 SURFACE MOUNTED POST BASE| ,
WASHER AND WASHER PLATE NUT MINOR DE%ZIALN(G:IEADNGES AND
05 [12/02/19 TITLEBLOCK CHANGE H.B
04 [10/03/17| OFFSET PLATE REVISED | L.L
03 |27/01/17 DETAILS REVISED LL
I 2.3 [20/05/15 DETAILS REVISED LL
REVNn DATE DETAILS INITIAL
SR612 - TYPE 'B'
PLATE DIMENSION PLATE DIMENSION T POST SIGMA 100
700 MAX 700 MAX 1950mm .
SR613 - TYPE 'B' POST .
- T R613 - TYPE 'B' POS MegaRail Birsta w2
I I
SURFACE MOUNTED 5 5 SURFACE MOUNTED
POST || | gld gE | ||/ PosT N2 A W4
3 Fg L
<t <t Rt
b AL > s | AL b SR609 - TYPE B ot ST\ N2.W4 VEHICLE RESTRAINT SYSTEM
° | | Ty 2400mm 60 INT. Svmn i el - COMPONENTS SCHEMATIC
APPROACH DEPARTURE — 1 | = o
OFFSET POST CAN BE FIXED WITH OFFSET POST E S =
CAST IN ANCHORS, DRILL i - o
AND FIX ANCHORS OR = - o
PUSHED IN ANCHORS o
AT 180x180 CENTERS
o S CONCORD HOUSE,
7. T T[T R S § . BESSEMER WAY, SCUNTHORPE,
8| | 5 8 |3 | NORTH LINCOLNSHIRE, DN15 8XE
oo 0 0 0 0 ° e t: 01724 289119
> I A 1 || FOR TECHNICAL ASSISTANCE CONTACT
PLATE DIMENSION PLATE DIMENSION oh dli c q K
700 MAX 700 MAX john.cudlipp@saferoad.co.u
SR100 - A21 SR090 - SIGMA  SR091 - SIGMA  SR092 - SIGMA TR Py
REINFORCING 100 POST 100 POST 100 POST
BASEPLATE DRILL &
TAPPED ROR LIFTING EVE RING SOCKET x 420  SOCKET x470  SOCKET x 520 N2W4-GA-00 07




BEAM TO POST CONNECTION TYPE 1

AND BEAM TO BEAM CONNECTION
(1 No / 4m BEAM)

GENERAL NOTES:

1.

2
/ = = SR635
[ \
( © ——o] |\
SR632 e e A
o o \
SR6XX SR600
- = = { §:R635 )
N \
\\ \
N \\ 3
| | | | \ | | |
= = 1 1 1 =—T—sr% 1 1 1
1 1 1 i 1 Al 1 1 1
© S o T - 2 |
g |== G2 = G2 N - = G2 =4
| | | | AV 1 | | |
S 3 S 1 1 1 3 3 1 1 1
3 | | | | 1] | | |
~ 5
-
A NOTE: THIS HOLE IDENTIFIES THE REQUIRED
ORIENTATION OF THE BEAM AND THE BEAM
END WITH THE ADDITIONAL HOLE SHOULD 6
BE SITED AS THE REAR BEAM AT LAP JOINTS
7
4000 2000
POST BEI]E%OM
CONNECTION
TYPE 1 LAP MIN. 1300
SIGMA 100 POST —l
TRAFFIC FLOW o -l o
g I 4 s
TYPE 1 CONNECTION ~ a =
|| %
wn
TABLE 'B' - SCHEDULE
OF POST REFERENCE
SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM NUMBERS AND
LENGTHS
SAFEROAD SAFEROAD
UK PART DESCRIPTION QUANTITY UK PART | POST
NUMBER NUMBER LENGTH
SR600 | BEAM "A" PROFILE 2mm 1 SR614 1100
04 |12/02/19| "UNOR DETAIL CRANGES | .
SEE TABLE B | POST SIGMA 100 1 SR611 1700 AND TITLEBLOCK REVISIONS |
03 [27/01/17 DETAILS REVISED LL ;
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING SR612 1950 104 DRAWING NUMBER
NUMBER MR-GA-W4-02 SR613 2100 2.3 [20/05/15 DETAILS REVISED LL

POSTS ARE TO BE INSTALLED WITH
THE CLOSED FACE OF THE CHANNEL
TOWARDS THE ON-COMING TRAFFIC.

. POST CENTRES MAY BE INSTALLED

AT EITHER 2m OR 4m CENTRES, AS
SHOWN IN ELEVATION, TO
ACCOMMODATE LOCAL
OBSTRUCTIONS. THE SYSTEM
SHOULD RETURN TO 4m CENTRES
WITH POSTS AT THE BEAM LAP
JOINTS LOCATIONS, AS PLAN VIEW,
AS SOON AS IS PRACTICAL.

. FOR OPTIONS ON POST

FOUNDATIONS REFER TO DRAWING
NUMBER MR-GA-020

. FOR DEVIATIONS IN SYSTEM POST

PITCH REFER TO DRAWING
N2W4-GA-40.

. WHEN TYING INTO ADJACENT VRS

ONLY ONE WORKING WIDTH
DIFFERENCE IS PERMITTED.

. WHERE A KERB IS PRESENT THE

MAXIMUM KERB HEIGHT IS 100mm.

. FOR MINIMUM LENGTH OF FULL

HEIGHT VRS REFER TO SAFEROAD
MEGARAIL MANUAL.

MegaRail Birsta w2
N2 A W4

N2.W4 VEHICLE RESRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT

SAFE ’

CONCORD HOUSE,

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119

FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

REVn

DATE

DETAILS

INITIAL

N2W4-GA-01

REVN:

04




RIGHT HAND BEAM
LEFT HAND BEAM

BEAM TO BEAM LAP

CONNECTION ARRANGEMENT
(X2 LOCATIONS / BEAM END)

BEAM TO POST
CONNECTION TYPE 1

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST

BIRSTA BEAM TO OUTIMEX SAFEROAD
MANUFACTURING g:EERh?l?N?BLI;E DESCRIPTION BEAM MANUFACTURING | UK PART DESCRIPTION COIJI:EEI}ION
REFERENCE CONNECTION REFERENCE NUMBER
BOLT 4.8 M10x35 c/w NUT, WASHER 11¢ HOLE
1122160250 SR635 SETSCREW 4.6 LIP M16x27 c/w FLANGE NUT 8 (+8) 1128121150A SR632 AND WASHER PLATE 115 x 40 X 5mm 1
QUANTITY OF CONNECTION TYPES / 4m BEAM
1(+1)

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

04 [12/02/19|  TITLEBLOCK CHANGES H.B

03 (27/01/17, DETAILS REVISED LL
2.4 |20/05/15 DETAILS REVISED LL
REVN DATE DETAILS INITIAL

MegaRail Birsta w2
N2 A W4

N2.W4 VEHICLE RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVN:

N2W4-GA-02 04




————=0 0o

SIGMA 100 POST TYPE "B"

\

\

‘—)7 OUTLINE OF
FRONT BEAM

LEFT HAND BEAM

TRAFFIC FLOW

RIGHT HAND BEAM

LEFT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

RIGHT HAND BEAM

/

q(0 [ o[p

qiofolp

0

0

NOTE: THIS HOLE IDENTIFIES THE REQUIRED
ORIENTATION OF THE BEAM AND THE BEAM
END WITH THE ADDITIONAL HOLE SHOULD
BE SITED AS THE REAR BEAM AT LAP JOINTS

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

04 [12/02/19|  TITLEBLOCK CHANGES H.B

03 (27/01/17, DETAILS REVISED LL
2.3 [20/05/15 DETAILS REVISED LL
REVD DATE DETAILS INITIAL

MegaRail Birsta w2
N2 A W4

N2.W4 VEHICLE RESTRAINT SYSTEM.
BEAM LAPPING DETAIL FOR W4
MEGARAIL SYSTEM

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W4-GA-03 04




— EXTENT OF N2-W3 SYSTEM
FOR MEASUREMENT PURPOSES

N2-W3 N2-W4 BIRSTA W2
SIGMA 100 POSTS
4000 4000 \
H H
o o
—— LAST N2-W3 SYSTEM FIRST N2-W4 SYSTEM —
POST POST
| | | |
- - T T T - T -
! ! ! —
| | | e .
' t t —— 5 5 =2 5
! ! ! f——— [} f f f "
2 ) 2 \ ) ] i i i ——
N \ - N -
| | | | /
1 1 1 - 1 -
| | | |

CORRUGATED
BEAM PROFILE A

TRAFFIC FLOW

CORRUGATED
BEAM PROFILE A

NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

MegaRail Birsta w2
N2 A W4

VEHICLE RESTRAINT SYSTEM.
N2 W4 INTO N2 W3 SYSTEM
PROGRESSION CONNECTION DETAIL

03 |01/04/19 TITLEBLOCK REVISED M.T
02 |12/02/19]  TITLEBLOCK CHANGES H.B
01 ]10/03/17]  POST DETAIL REVISED LL

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

00 |27/01/17 NEW DRAWING

LL

REVn DATE DETAILS

INITIAL

DRAWING NUMBER: REVn:

N2W4-GA-20 03




=3 =3 C3) G2
‘ OBSTRUCTION ‘
\ 1
Y
7 7
2000 4000 2000
I
L4
E3) =3 =) =3
‘ OBSTRUCTION |
\ —
7
7 7
2000 4000 | 2000
4000
2 =3 =3 C=
L :
PUSHED IN —/ M ‘
CRADLE ANCHOR OBSTRUCTION | /
DRILL & FIX
OR PUSHED IN
ANCHOR
SURFACE MOUNTED POST
02 |25/05/22 BASE CHANGED A-D
01 [12/02/19| TITLEBLOCK CHANGES | H.B
00 |27/01/17 NEW DRAWING LL

GENERAL NOTES:
1. IF THE SITE CONDITIONS DO NOT ALLOW A

POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION AS PER THIS DRAWING.
ALTHOUGH IT WOULD BE BENEFICIAL TO USE
THE HOLES ALREADY IN THE BEAM IT IS
ACCEPTABLE TO DRILL NEW HOLES IN THE
DESIRED POSITIONS AND TREAT WITH ZINC
RICH PAINT.

2. OFFSET POSTS SHOWN ON DRAWING

N2W4-GA-00 CAN BE USED.

MegaRail Birsta w2
N2 A W4

N2.W4 VEHICLE RESTRAINT SYSTEM
DEVIATION SETTING OUT
ARRANGEMENT

SAFE ®

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

REVn

DATE

DETAILS

INITIAL

DRAWING NUMBER: REVn:

N2W4-GA-40 02




MACHINING NOTES

FABRICATION NOTES

WELDING

WEBLDI::; SYMBOLSA - Som wELD b i :"fz AUCHmE WHERE MARKED O . SPECIFICATION
D mawr R waswan s e T T miz T [F IN DOUBT,ASK. DRAWING NOT TO BE SCALED.
T sowwe s ¥ BN / s m.mn)
e $
|cetia s & S % |
250
/ 625 250f
BIRSTA 1P 8500
SAFE-END P4 TERMINAL '
TRAFFIC FLOW
PLAN VIEW
BIRSTA 1P 8500
SAFE-END P4 TERMINAL
625
CONNECTOR
SEE DETAIL
0T i £ = S 111 1 —f GROUND
/ W W 'ﬂ”: 652%20 LVEVEL
LLI LI} *
I Il Il Il
Il Il Il
Il Il Il
! ! } TRAFFIC FLOW
u u
4000 4056 6800 !
' TYP. POST CRS ' '

240

100

SECTION THROUGH BIRSTA 1P

ELEVATION ON TRAFFIC FACE

SAFE-END P4 TO BIRSTA 1P

| 625 237 o
| m
o OL T o
| o 00
N Al _1 Al
o
~
= o
_‘ m
625 237

[t

F
L

CONNECTION PIECE DETAIL

FOR DETAILS OF CONCRETE
FOUNDATIONS CONTACT
SAFEROAD VRS

NOTES;

1 ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

2. FOR INSTALLATION PROCEDURES REFER TO
SAFEROAD MANUAL.

REWN.

DATE

REMARKS SIG.

SAFEROAD®

VRS LTD

Cor

"™ GENERAL ARRANGEMENT # DETAIL
SAFE-END P4 END TERMINAL TO BIRSTA | P

ORDER No:—

MATL:—

DRAWN:— CHECKED:— CHECKED QA:—

ISSUE DATE:—

DATE:— SCALE:— ‘APPROVED:—

27.11.17

N.T.S

PROJECTION:—

[

DRG NO:—

UK 21373

REV:—

00




INDICATIVE C10

DETAIL /B/\/\ MEGARAIL SYSTEM POST
”"Dz\ I ) I

[ " ) :[ soe] [T / I
\INDICATIVE MEGARAIL
BEAMS

SAFE-END P4 SAFE-END P4 LONG CONNECTOR PROGRESSION INTO MEGARAIL

(SEE SYSTEM PROGRESSION DETAILS IN MEGARAIL MANUAL>
295100 DETAIL /A/\
2 1l ® w ® 3'1'3 s @ - e @ E'*'E
Bl O 'I' m m s
o
[qV]
! patl
] T
L
‘ 6800+100 1700+50 2000£50 2000£50 MEGARAIL SYSTEM POST CENTRES
(SEE MEGARAIL MANUAL>
GENERAL ARRANGEMENT DETAILS OF
SAFE—END P4 LONG CONNECTION TO MEGARAIL SYSTEM
SCALE: 1:50
P4 RAIL TO LONG CONNECTOR
FIXINGS:
. M16x150 BOLTS
. M16 FORM ‘A" FLAT WASHERS
. M16 HEX NUTS
SIGMA POST
00 [29,/04/25 DRAWING CREATED HB
REVN. DATE REMARKS SIG.
7777777777777 ! TITLE:—
—————— T GENERAL ARRANGEMENT
LONG CONNECTOR FIXINGS: SAFE—END P4 TERMINAL
. M10x35 BOLT
e MIOx115x40x5 WASHER PLATE LONG CONNECTION
. M10 FORM ‘A" FLAT WASHER
7777777777777777777777 . M10 HEX NUT
LONG CONNECTOR
R CONNECTION TO MEGARAIL
DAL ETAL B SAFEROAD
(P4 RAIL TO LONG CONNECTOR FIXINGS) (LONG CONNECTOR TO SIGMA POST FIXINGS) UK LTD
SCALE: 1:5 SCALE: 1:4
GENERAL NOTES; et
_Scunthprpe
1. ALL DIMENSIONS IN MILLIMETRES UNLESS NOTED OTHERWISE. Nort Lo Ny > 8XE
2 FOR INSTALLATION PROCEDURES, REFER TO SAFEROAD MANUAL DRG NO:- UK 28448 0




ooe] [~ -17- \ / | |

DETAIL ’B*
¥ = ] i \/z\ 5 7 2 2

SAFE-END P4 SAFE-END P4 LONG CONNECTOR SINGLE SIDED TENSIONED CORRUGATE BEAM
1600MM POST CENTRES FOR 10000 MIN

295%100 DETAIL ‘A~
. - R - R 2% — : - 7 — =
o T o 'I'
MY
> W ﬂl P | |
| | A\{%
R
6800100 1700+50 2000+50 2000£50 800 1600 1600 1600
GENERAL ARRANGEMENT DETAILS OF
SAFE—END P4 LONG CONNECTION TO SINGLE SIDED TENSIONED CORRUGATE BEAM
SCALE: 1:50
P4 RAIL TO LONG CONNECTOR
FIXINGS:
. M16x150 BOLTS
. M16 FORM ‘A" FLAT WASHERS
. M16 HEX NUTS
SIGMA POST
00 [30/04/25 DRAWING CREATED HB
REVN. DATE REMARKS SIG.
"\ TITLE:~
—————— o posr 10 GENERAL ARRANGEMENT
LONG CONNECTOR FIXINGS: SAFE—END P4 TERMINAL
. M10x35 BOLT
o MIOx115x40x5 WASHER PLATE LONG CONNECTION
. M10 FORM ‘A" FLAT WASHER
7777777777777777777777 . M10 HEX NUT
CONNECTION TO TENSIONED
LONG CONNECTOR
LONG CONNECTOR CORRUGATE BEAM
e SAFEROAD
(P4 RAIL TO LONG CONNECTOR FIXINGS) (LONG CONNECTOR TO SIGMA POST FIXINGS)
SCALE: 1:5 SCALE: 1:4 UK LTD
GENERAL NOTES; P i
.Scunthprpe
1. ALL DIMENSIONS IN MILLIMETRES UNLESS NOTED OTHERWISE. o e ey O
2. FOR INSTALLATION PROCEDURES, REFER TD SAFERDAD MANUAL DRG N UK 28455 0




LENGTH OF NEED OF FULL HEIGHT FULL CONTAINMENT VRS - MIN. 44m

GENERAL NOTES:
1. P.S.B. = POINT FROM WHERE SET-BACK IS

MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE

CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. MINIMUM LENGTH OF FULL HEIGHT VRS IS 44m

H1-W3 8m H2-W2 H2-W2 MIN. 10.5m H2-W2 8m H1-W3
MEGARAIL ec3.3 TM33 MINIMUM 30m [APPROACH LENGTH] LENGTH OF HAZARD [DEPARTURE LENGTH] TM33 MEGARAIL ec3.3
TRANSITION TRANSITION

WIDTH MINIMUM 800 ‘

N AVAILABLE WORKING _,

P.S.B. —L

SET
BACK

TRAFFIC FLOW

MegaRail sk
H2 A W2 VI2

H2.W2 VEHICLE RESTRAINT SYSTEM
SYSTEM PROGRESSION SCHEMATIC
FOR H2 W2 PROTECTION TO HAZARD

02 ]01.06.22

E-MAIL ADDRESS CHANGED

AD

01 (10.01.19

TITLE DETAILS REVISED

M.T

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

00 (17.10.18

DRAWING CREATED

M.T

REVNn DATE

DETAILS

INITIAL

DRAWING NUMBER: REVn:

H2W2-GA-10 | g7




MEGARAIL sk H2 W2

8000

MEGARAIL ec

(APPROACH)
(DEPARTURE)

TRANSITION TM33

SR201 ) (FIXINGS)

/ SR300) ,

(TRANSITION
POST FIXINGS
TYP.)

1 1

== # — = — : == : : == =
1 1 7] 1 1 1 1 1
ﬁ ﬂ SR028 SR054 SR034 SR034 SR127 SR049 SR049 SR049
1000 1000 1000 1000 1000 1000 1000 1333 1334 1333
TRAFFIC FLOW
)N —POST CONNECTION —POST CONNECTION POST CONNECTION POST HEIGHT: 680
1 T TYPE 1 T TYPE 1 —l TYPE 1 POST HEIGHT: 590 ‘ POST HEIGHT: 590 ‘
L & N L o » <t 1T r 0 il
L] 1
L posT STIFFENER L post sTIFFENER 300 |
1Q08pACER 1000 g oplacer 1000 BEAM 1000 1000 1000 1000 1333 1333 1333
BRACKET BRACKET LAP
——— —TRAFFIEFEON———ooo— ] e T R e ——— .
8 S R
N™ post oFFseTs — N
04 |11/03/24| NOTE REGARDING POST LENGTHS ADDED | H.B
03 [10.01.19| TITLE DETAILS REVISED | M.T
02 |28.03.17 VI ADDED M.T
GENERAL NOTES: 01 [10.03.17| POST TYPES CORRECTED | M.T
1. TO BE READ IN CONJUNCTION WITH DRG.
Nos. H2W2-GA-00, H2W2-GA-01 & 00 |08.02.17 DRAWING CREATED M.T
H2W2-GA-02. REVn DATE DETAILS INITIAL
POST LENGTHS DETAILED WITHIN GA & TABLE ARE 2. DEPARTURE TRANSITION SHOWN, APPROACH
EXAMPLES OF LENGTHS AVAILABLE. LENGTH/FOUNDATION SIMILAR BUT HANDED. CODES AS SHOWN.
VARIATIONS ARE AVAILABLE AS SHOWN ON GA-00, AS .
REQUIRED VIA SOIL TESTING PROCEDURE M eg a Ral I S k
TOP RAIL
BEAM TABLE 'A' - TRANSITION COMPONENT SCHEDULE - QTY'S 1 No. DEPARTURE H2 A W2 VI2
TRANSITION
I I SAFEROAD H2.W2 VEHICLE RESTRAINT SYSTEM
I I PART DESCRIPTION QUANTITY | [ TM33 TRANSITION ARRANGEMENT
11 210 NUMBER
POSTC125— || |
_\| | _ _ SR122 BOX PROFILE JOINT 1
11
1 S SR121 BOX PROFILE LOWERING 1 ®
11 = S
I I o - 2 SR125 CONNECTION BEAM POS. D - APPROACH 0 A F E R D A D
wn
[ H H -
I I 2 3 SR126 CONNECTION BEAM POS. C - DEPARTURE 1 CONCORD HOUSE,
1 SR028 sk BEAM "A" PROFILE 2 BESSEMER WAY, SCUNTHORPE,
. SR123 | ATTACHMENT ANGLE 100 1 NORTH LINCOLNSHIRE, DN15 8XE
= SRO49 | 'C' POST c/w BRACKET 1100 LONG 6 t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
SR127 'C' POST 125 x 1100 x 5mm 1 . .
john.cudlipp@saferoad.co.uk
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING NUMBER | [ —
H2W2-GA-02 : i

H2W2-GA-50 04




2000 2000 1250 1250 1000 500
| SR814
f n f . = . S — L p—— I
n
/ T i ) A ;
B ) 7
SR504 == SR816 a
205 0 (srste) g
HEIGHT TAPER TOP RAIL CONNECTION TO CONCRETE
TOP RAIL APPROACH
PLAN VIEW
1250 HIGH 872 1500 HIGH MEGAGUARD TRANSITION TO CONCRETE STRUCTURE
MEGAGUARD SR501
IF GROUND LEVELS 0.5° OR A
UNDER, POSTS TO BE
{ MANUFACTURED LEVEL ’_' SR508 7
= T - T = T = —i. DRAWING SHOWS
% ‘ ‘ ‘ [/ CONNECTION TO HVCB
(H4a). CONNECTION TO
L TOP RAIL TAPERED | SR510 | SR510 | SR509 | = CONCRETE STRUCTURES
FROM 1250 TO 1500 - - - E.G. SIGN OR SIGNAL
HIGH _ GANTRY FOUNDATION,
t BRIDGE PIER OR SMOOTH
[ FACE RETAINING WALL IS
I — — — — — i — — — — — — — — SIMILAR.
[ I
r - n - = g oy - iy - - - - R
[ = = I =
! ! 4133 \ 0
I T T T
FRONT & BACK BEAM SR507 <
SR512 !
[
2000 2000 1250 1250 A 1000 500

CONCRETE H4a
[ PARAPET/SMOOTH
FACE RETAINING
WALL/SIGN GANTRY

\\ MEGAGUARD TOP
|- RAIL TO BE
i GRADUALLY TAPERED
FLUSH WITH TRAFFIC
FACE TOWARDS

i CONCRETE PARAPET
i (CHAMFERED TO SUIT
CONCRETE PARAPET
PROFILE IF REQ'D)

i 265

il TO C/L FIRST
i ANCHOR BOLT

|
1500
O/ALL HEIGHT MEGAGUARD

—
w
=

445

50
MIN.

225

SECTION A-A

ELEVATION ON TRAFFIC FACE
APPROACH CONNECTION

APPROACH RUN LENGTH: 30.0m OVERALL
INCLUDING CONNECTION TO CONCRETE

AND TRANSITION TO 1250 HIGH

ARRANGEMENT SHOWN WITH BASEPLATED

POSTS. CAN ALSO BE SOCKETED

GENERAL NOTES;

1.

ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

FOR DETAILS OF STRUCTURE ANCHORAGE, ITEM
V60, SEE DRG. No. SB/155, EXCEPT MATERIAL TO
BE STAINLESS STEEL GRADE 1.4362.

MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

REACTION BRACKET TO ACCOMMODATE H2/W1
MEGAGUARD SYSTEM.

TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

HEIGHT TO BE MAXIMUM OF 1500mm. BARRIER
HEIGHT CAN BE REDUCED TO SUIT A MINIMUM
CONCRETE STRUCTURE HEIGHT OF 1250mm

00 (01.02.17 DRAWING CREATED M.T

DATE DETAILS INITIAL

MegaGuard
H2 W1

CONNECTION TO CONCRETE
STRUCTURE (V60 CRADLE)
APPROACH / LEFT HAND
GENERAL ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk

REVN:

00

DRAWING NUMBER:

H2W1-GA-05




500 1000 1250 1250 2000 2000
SR814 |
G e —
(0w P L 7 L E—— L 1 i 1
: + 3 ] T I \\
: o)) 3
a SR815 - SR504
& (srts) 540 (srs04) 505
CONNECTION TO CONCRETE HEIGHT TAPER TOP RAIL
TOP RAIL APPROACH PLAN VIEW
1500 HIGH MEGAGUARD TRANSITION TO CONCRETE STRUCTURE 872 1250 HIGH
MEGAGUARD

&=

DRAWING SHOWS

IF GROUND LEVELS 0.5° OR

A UNDER, POSTS TO BE
R 'y
SR508 MANUFACTURED LEVEL
= T T T T

CONNECTION TO HVCB
(H4a). CONNECTION TO

CONCRETE STRUCTURES
E.G. SIGN OR SIGNAL
GANTRY FOUNDATION,

BRIDGE PIER OR SMOOTH
FACE RETAINING WALL IS
SIMILAR.

=y

TOP RAIL TAPERED
FROM 1250 TO 1500
HIGH

16°

445

bye ol

3133 __J

1
i

CONCRETE H4a
PARAPET/SMOOTH
FACE RETAINING
WALL/SIGN GANTRY

500

1000

FRONT & BACK BEAM
SR506
-
A

o]

1250 1250

2000

2000

h

MEGAGUARD TOP
RAIL TO BE _]
GRADUALLY TAPERED
FLUSH WITH TRAFFIC
FACE TOWARDS
CONCRETE PARAPET
(CHAMFERED TO SUIT
CONCRETE PARAPET
PROFILE IF REQ'D)

265

TO C/L FIRST
ANCHOR BOLT

1500
O/ALL HEIGHT MEGAGUARD

445

50
MIN.

SECTION A-A

ELEVATION ON TRAFFIC FACE
DEPARTURE CONNECTION

APPROACH RUN LENGTH: 12.0m OVERALL
INCLUDING CONNECTION TO CONCRETE
AND TRANSITION TO 1250 HIGH

ARRANGEMENT SHOWN WITH BASEPLATED
POSTS. CAN ALSO BE SOCKETED

GENERAL NOTES;

1.

ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

FOR DETAILS OF STRUCTURE ANCHORAGE, ITEM
V60, SEE DRG. No. SB/155, EXCEPT MATERIAL TO
BE STAINLESS STEEL GRADE 1.4362.

MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

REACTION BRACKET TO ACCOMMODATE H2/W1
MEGAGUARD SYSTEM.

TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

HEIGHT TO BE MAXIMUM OF 1500mm. BARRIER
HEIGHT CAN BE REDUCED TO SUIT A MINIMUM
CONCRETE STRUCTURE HEIGHT OF 1250mm.

00 (01.02.17 DRAWING CREATED M.T

REVR DATE DETAILS INITIAL

MegaGuard
H2 W1

CONNECTION TO CONCRETE
STRUCTURE (V60 CRADLE)
DEPARTURE / RIGHT HAND
GENERAL ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

H2W1-GA-06 00




PROFILE IF REQ'D)

265

TO C/L FIRST
ANCHOR BOLT

1500
O/ALL HEIGHT MEGAGUARD

n
3
e
=
‘ 180 | 225
SECTION A-A

APPROACH RUN LENGTH: 30.0m OVERALL
INCLUDING CONNECTION TO CONCRETE
AND TRANSITION TO 1250 HIGH

ARRANGEMENT SHOWN WITH BASEPLATED
POSTS. CAN ALSO BE SOCKETED

2000 2000 1250 1250 1000 500
SR814
_ 717 __ Ire Ireery|
t == - — e o [ =
[ ]
[ 1 in e Y
/ I | XS
L) ° o0 7
SR504 e SR816 a
“e0s (srs04) 50 (srs16) 7
HEIGHT TAPER TOP RAIL CONNECTION TO CONCRETE
TOP RAIL APPROACH
PLAN VIEW
SSR-VDI M16 x 125
INTERNALLY THREADED
SR501 CHEMICAL ANCHOR SOCKETS
1250 HIGH 872 1500 HIGH MEGAGUARD TRANSITION TO CONCRETE STRUCTURE C/W VDP20x135 CAPSULE. 28
MEGAGUARD DIA. x 125 DRILLING DEPTH
REQD.
IF GROUND LEVELS 0.5°
OR UNDER, POSTS TO BE A ..
‘ MANUFACTURED LEVEL [ SR508
= T T T T T =5 DRAWING SHOWS
=) ‘ ‘ xr 1125 CONNECTION TO HvcB
(H4a). CONNECTION TO
I TOP RAIL TAPERED |1 SR510 | SR510 | SR509 | = CONCRETE STRUCTURES
FROM 1250 TO - - E.G. SIGN OR SIGNAL
1500 HIGH ‘ i . GANTRY FOUNDATION,
BRIDGE PIER OR SMOOTH
FACE RETAINING WALL IS
— — — — — — o — — — — — — — = . SIMILAR.
[ I
r - - = - (g - i - - - - \
_ _ _ _ _ =[] _ _ _ _ _ _ L ‘
‘ ‘ 4133 \ 0
I T T T
FRONT & BACK BEAM SR507 <
SR512
Lo
2000 2000 1250 1250 A 1000 500
ELEVATION ON TRAFFIC FACE
385 CONCRETE Hda APPROACH CONNECTION
PARAPET/SMOOTH
/ FACE RETAINING
— WALL/SIGN GANTRY
140
e
+ \ MEGAGUARD TOP
| - RAIL TO BE
! GRADUALLY TAPERED
! + FLUSH WITH TRAFFIC
‘ FACE TOWARDS
] CONCRETE PARAPET
] EE i130 (CHAMFERED TO SUIT
+ CONCRETE PARAPET

GENERAL NOTES;

1.

ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

ANCHOR IN CONCRETE STRUCTURE TO BE
SSR-VDI M16 x 125 INTERNALLY THREADED
ANCHOR C/W VDP20 x 135 CAPSULE. 28 DIA. x
125mm DRILLING DEPTH REQ'D. 10 No.
ANCHORS REQ'D PER CONNECTION.

MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

REACTION BRACKET TO ACCOMMODATE H2/W1
MEGAGUARD SYSTEM.

TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

HEIGHT TO BE MAXIMUM OF 1500mm. BARRIER
HEIGHT CAN BE REDUCED TO SUIT A MINIMUM
CONCRETE STRUCTURE HEIGHT OF 1250mm.

00 (01.02.17

DRAWING CREATED M.T

REVN DATE DETAILS

INITIAL

MegaGuard
H2 W1

CONNECTION TO CONCRETE
STRUCTURE (DRILL & FIX)
APPROACH / LEFT HAND
GENERAL ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

H2W1-GA-07 00




500 1000 1250 1250 2000 2000
)
\
N == M— (== RS OCON == m— - ]
Il 1
S R — — | T |
+ 4 ] T i !
\ 's (sre1s)— 20 (sv0%) J |
. 3340 3605
CONNECTION TO CONCRETE HEIGHT TAPER TOP RAIL
TOP RAIL APPROACH PLAN VIEW
SSR-VDI M16 x 125
INTERNALLY THREADED
CHEMICAL ANCHOR SOCKETS SR500
C/W VDP20x135 CAPSULE. 28 1500 HIGH MEGAGUARD TRANSITION TO CONCRETE STRUCTURE 872 1250 HIGH
DIA. x 125 DRILLING DEPTH MEGAGUARD
REQD. A IF GROUND LEVELS 0.5'
OR UNDER, POSTS TO BE
SR508 - MANUFACTURED LEVEL &
DRAWING SHOWS =t T T = (| T S
CoNNECTIONTO HVeB 125 [T ILT ‘ ‘ ‘ ‘ ©
(H4a). CONNECTION TO
CONCRETE STRUCTURES == | SR509 | SR510 | SR510 I| TOP RAIL TAPERED |
E.G. SIGN OR SIGNAL - - - FROM 1250 TO
GANTRY FOUNDATION, = ‘ 1500 HIGH
BRIDGE PIER OR SMOOTH
FACE RETAINING WALL IS
SIMILAR. F — — — — —T — L — — — —
| LR
I - - - - - . [ ol - - - -
- 4133 J \ | !
s I| FRONT & BACK BEAM |1 i
SR506
T
(o]
500 1000 A 1250 1250 2000 2000
385 ELEVATION ON TRAFFIC FACE
CONCRETE H4a
PARAPET/SMOOTH DEPARTURE CONNECTION
FACE RETAINING
WALL/SIGN GANTRY o
|y
MEGAGUARD TOP [7 +
RAIL TO BE ]
GRADUALLY TAPERED [
FLUSH WITH TRAFFIC + .
a FACE TOWARDS | "
CONCRETE PARAPET
£ (cmvrerep Tosurr |139,150) | ®
3 CONCRETE PARAPET +
< PROFILE IF REQD)
g a
w
g E 265 [~ L
wn
- &E TO C/L FIRST ‘ APPROACH RUN LENGTH: 12.0m OVERALL
£ ANCHOR BOLT INCLUDING CONNECTION TO CONCRETE
3 AND TRANSITION TO 1250 HIGH
s
wn
<
<+
ARRANGEMENT SHOWN WITH BASEPLATED
t POSTS. CAN ALSO BE SOCKETED
R
SECTION A-A

GENERAL NOTES;

1.

ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

ANCHOR IN CONCRETE STRUCTURE TO BE
SSR-VDI M16 x 125 INTERNALLY THREADED
ANCHOR C/W VDP20 x 135 CAPSULE. 28 DIA. x
125mm DRILLING DEPTH REQ'D. 10 No.
ANCHORS REQ'D PER CONNECTION.

MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

REACTION BRACKET TO ACCOMMODATE H2/W1
MEGAGUARD SYSTEM.

TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

HEIGHT TO BE MAXIMUM OF 1500mm. BARRIER
HEIGHT CAN BE REDUCED TO SUIT A MINIMUM
CONCRETE STRUCTURE HEIGHT OF 1250mm.

00 (01.02.17 DRAWING CREATED M.T

REVN DATE DETAILS

MegaGuard
H2 W1

CONNECTION TO CONCRETE
STRUCTURE (DRILL & FIX)
DEPARTURE / RIGHT HAND
GENERAL ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

H2W1-GA-08 00

INITIAL




2000 2000 1250 1250 1000 500
, G
[ == ] \ ==K ZF:;L [F==] * 3
[ T I
[ 1 - e
/ i 7 ) [+ ;
20 =
O - e @® B
HEIGHT TAPER TOP RAIL CONNECTION TO CONCRETE
TOP RAIL APPROACH
PLAN VIEW
1250 HIGH 872 1500 HIGH MEGAGUARD TRANSITION TO CONCRETE STRUCTURE
MEGAGUARD
SR501
IF GROUND LEVELS 0.5° OR
UNDER, POSTS TO BE
{ MANUFACTURED LEVEL [ SR508 i
= T - T T = —3 DRAWING SHOWS
%R ‘ [l CONNECTION TO HVCB
(H4a). CONNECTION TO
- TOP RAIL TAPERED | | | SR509 = CONCRETE STRUCTURES
FROM 1250 TO 1500 E.G. SIGN OR SIGNAL
/ HIGH _ GANTRY FOUNDATION,
BRIDGE PIER OR SMOOTH
FACE RETAINING WALL IS
— — — — — — = — — - — — — — - SIMILAR.
_ _ - _ [ _ _ _ _ _ _ |
S —, e ————— o S ————————— o—
B 1 4133 \ n
(o2}
FRONT & BACK BEAM <+
T
[
2000 2000 1250 1250 1000 500
385
140 7'52&‘:&52:‘0‘?) ™ ELEVATION ON TRAFFIC FACE
i FACE RETAINING APPROACH CONNECTION
WALL/SIGN GANTRY
=1 MEGAGUARD TOP
IR \, RAIL TO BE
i GRADUALLY TAPERED
=13 FLUSH WITH TRAFFIC |
| FACE TOWARDS I~
i CONCRETE PARAPET |55
T (CHAMFERED TO SUIT  |©
i CONCRETE PARAPET |5
= i; ZngFILE IF REQD) g %
S B =
i ]
i i
I
o
1|30 £ APPROACH RUN LENGTH: 30.0m OVERALL
| © INCLUDING CONNECTION TO CONCRETE
} ¥ AND TRANSITION TO 1250 HIGH
|
" EED
p=d
£ ROAD LEVEL ARRANGEMENT SHOWN WITH SOCKETED
R POSTS. CAN ALSO BE BASEPLATED

SECTION A-A

GENERAL NOTES;

1.

ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

FOR DETAILS OF STRUCTURE ANCHORAGE, ITEM
V60, SEE DRG. No. SB/155, EXCEPT MATERIAL TO
BE STAINLESS STEEL GRADE 1.4362.

MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

REACTION BRACKET TO ACCOMMODATE H2/W1
MEGAGUARD SYSTEM.

TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

HEIGHT TO BE MAXIMUM OF 1500mm. BARRIER
HEIGHT CAN BE REDUCED TO SUIT A MINIMUM
CONCRETE STRUCTURE HEIGHT OF 1250mm

00 (06.02.19 DRAWING CREATED M.T

DATE DETAILS INITIAL

MegaGuard
H2 W1

CONNECTION TO CONCRETE
STRUCTURE (V60 CRADLE)
APPROACH / LEFT HAND

SOCKETED GENERAL ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk

REVN:

00

DRAWING NUMBER:

H2W1-GA-12




POSTS. CAN ALSO BE BASEPLATED

500 1000 1250 1250 2000 2000
SR814
| \
e 2 % == L; Al == \ [ == A
i 1
S R — — | I |
: + 4 ] T I \\
: o)) 2 e
a SR815 = SR504
& (srats) 0 (srs04) 505
CONNECTION TO CONCRETE HEIGHT TAPER TOP RAIL
TOP RAIL APPROACH PLAN VIEW
1500 HIGH MEGAGUARD TRANSITION TO CONCRETE STRUCTURE 872 1250 HIGH
SR500 MEGAGUARD
A IF GROUND LEVELS 0.5° OR
UNDER, POSTS TO BE
SR508 - MANUFACTURED LEVEL \
DRAWING SHOWS  _p.. = T T = | T S
CONNECTION TO HVCB ‘ ‘ ‘ o
(H4a). CONNECTION TO
CONCRETE STRUCTURES = | SR509 | SR510 | SR510 | TOP RAIL TAPERED | —
E.G. SIGN OR SIGNAL - - - FROM 1250 TO 1500
GANTRY FOUNDATION, _ HIGH
BRIDGE PIER OR SMOOTH \
FACE RETAINING WALL IS 1
SIMILAR. — — — — — —T — ) — — — — — 1
| |
[T - - - - - ol - - - - -
" 4133 f !
¢ FRONT & BACK BEAM [ HIE
a N SR506 N a a
T \
_ 1 (sms12
500 1000 A 1250 1250 2000 2000
385
CONCRETE H4a
PARAPET/SMOOTH ELEVATION ON TRAFFIC FACE
FACE RETAINING
WALL/SIGN GANTRY DEPARTURE CONNECTION
MEGAGUARD TOP
RAIL TO BE |
GRADUALLY TAPERED
a FLUSH WITH TRAFFIC
o FACE TOWARDS
S CONCRETE PARAPET
O (CHAMFERED TO SUIT
& CONCRETE PARAPET
L PROFILE IF REQD)
=] 265
YT
[T
]
=
.
I5) - _Jt30 APPROACH RUN LENGTH: 12.0m OVERALL
g: INCLUDING CONNECTION TO CONCRETE
AND TRANSITION TO 1250 HIGH
FINISHED J i
ROAD LEVEL S
s ARRANGEMENT SHOWN WITH SOCKETED
~

SECTION A-A

GENERAL NOTES;

1.

ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

FOR DETAILS OF STRUCTURE ANCHORAGE, ITEM
V60, SEE DRG. No. SB/155, EXCEPT MATERIAL TO
BE STAINLESS STEEL GRADE 1.4362.

MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

REACTION BRACKET TO ACCOMMODATE H2/W1
MEGAGUARD SYSTEM.

TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

HEIGHT TO BE MAXIMUM OF 1500mm. BARRIER
HEIGHT CAN BE REDUCED TO SUIT A MINIMUM
CONCRETE STRUCTURE HEIGHT OF 1250mm.

00 (06.02.19 DRAWING CREATED M.T

REVNn DATE DETAILS INITIAL

MegaGuard
H2 W1

CONNECTION TO CONCRETE
STRUCTURE (V60 CRADLE)
DEPARTURE / RIGHT HAND
SOCKETED GENERAL ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

H2W1-GA-13 00




1880 1880

@

1880 1130

1130_,, 880

INT INT

INT INT

INT INT

END TOP RAIL

@

STD TOP RAIL

STD TOP RAIL
o)
PLAN VIEW
30000

STD TOP RAIL

\ )

SPECIAL TOP RAIL

\ =)

™ CONNECTION TO CONCRETE
TOP RAIL APPROACH

\ ()

G

H2 1.25m HIGH MEGAGUARD TRANSITION TO CONCRETE

@,

)

2316 4316 4316 4316 4316 4316 4316 am |
BACK BACK BEAM BACK BEAM BACK BEAM BACK BEAM BACK BEAM BACK BEAM BACK BEAM pe——
BEAM — ‘
/ /il IT IT IT IT IT IT IT IT IT IT IT TL TL TL TL |
E = = = = = = —+F = = =} = = st — ES = i = = =3 =4 == = f
A\ a
SR820 SR822
(sre2) 12 PITCHES @ 2000 = 24000 2000 | 1250 | 1250 | 1000 | | 500
L
4316 4316 4316 4316 4316 4316 2316 4133 A
STD FRONT BEAM STD FRONT BEAM STD FRONT BEAM STD FRONT BEAM STD FRONT BEAM STD FRONT BEAM FRONT FRONT BEAM
BEAM
VRS TIE IN & SYSTEM L.
PROGRESSION TBC SR700 g SR512
ELEVATION ON TRAFFIC FACE
APPROACH CONNECTION
CONCRETE H4a
PARAPETSMOOTH FULL REQUIRED QUANTITY PER APPROACH/LEFT HAND 30.0m RUN
Cl G
ALLISION SRy CODE DESCRIPTION QrY
WITH V60 ANCHOR SR502 REACTION BRACKET APPROACH FOR 1250mm HIGH 1
MEGAGUARD TOP
- RaIL TO BE SR822 INTERMEDIATE SOCKETED POST 1734mm LG 16
LY o SR820 LEFT HAND END SOCKETED POST 1734mm LG 1
Y ARAFFIC FACE SR825 MEGAGUARD POST SOCKET 525mm LG 17
j 22§NCRHE PARAPET . 'g SR100 REINFORCING RING (ITEM A21) 17
REACTION BRACKET ~ =& SR831 SPACER BRACKET 180mm LG 17
NI TO ACCOMMODATE 8 —a
‘ N o 1osmmGn Q|3 SR508 INTERMEDIATE RAIL 400mm LG 1
= =| MEGAGUARD 6
U] svsrem SR509 INTERMEDIATE RAIL 880mm LG 1
T
il /~TO C/L FIRST SR510 INTERMEDIATE RAIL 1130mm LG 2
= ANCHOR BOLT
; ‘130 / 0 SR830 INTERMEDIATE RAIL 1880mm LG 13
1 SR816 TOP RAIL TO CONCRETE APPROACH 3340mm LG 1
\ SR505 SPECIAL TOP RAIL 3605mm LG 1
_ FINISHED SR810 STANDARD TOP RAIL 5980mm LG 3
z ROAD LEVEL SR811 END TOP RAIL 4980mm LG 1
8 SR507 BACK BEAM TO CONCRETE APPROACH 4133mm LG 1
SR802 STANDARD BACK BEAM 4316mm LG 6
ARRANGEMENT SHOWN WITH SOCKETED SR852 BACK BEAM 2316mm LG !
500 POSTS. CAN ALSO BE BASEPLATED SR512 FRONT BEAM TO CONCRETE 4133mm LG 1
SR80L FRONT BEAM 2316mm LG 1
SECTION A-A SR700 STANDARD FRONT BEAM (VIK) 4316mm LG 6

)
400
ﬁw
@

GENERAL NOTES;

1.

ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

FOR DETAILS OF STRUCTURE ANCHORAGE, ITEM
V60, SEE DRG. No. SB/155.

MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

ARRANGEMENT & REACTION BRACKET SUITABLE
FOR 1.25m MIN. O/ALL HEIGHT MEGAGUARD
SYSTEM.

01 |07.05.19 NOTES REVISED M.T
00 [18.02.19 DRAWING CREATED M.T
REVN DATE DETAILS INITIAL

MegaGuard
H2 W1

1.25m CONNECTION TO CONCRETE
STRUCTURE (V60 CRADLE)
APPROACH / LEFT HAND SOCKETED
FULL 30.0m GENERAL ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk

REVN:

01

DRAWING NUMBER:

H2W1-GA-16




1130 1130

400 880 1880 1880 1880 1880
‘ iNT INT INT RAIL INT RAIL STD INT RAIL STD INT RAIL STD INT RALL STD INT RALL
|
(== = (= ==l | 1 \
= )
20 20 1
3340 3605 / 4980
CONNECTION TO CONCRETE SPECIAL TOP RAIL END TOP RAIL
TOP RAIL APPROACH SR814
(s
PLAN VIEW
12000
H2 1.25m HIGH MEGAGUARD TRANSITION TO CONCRETE
4133 4316 4316
BACK BEAM
R c STD BACK BEAM STD BACK BEAM VRS TIE IN & SYSTEM
SR503 1 POGRESSION TBC
— [t T T |
— | —i i = il — T = i — N\ |
4—‘—“'3;; ‘ - - = R - el - e —— = B et - P - |
| I I | | Go - G \
1
500 | 1000 1250 1250 2000 2000 2000 2000
|
A 4133 2316 4316 2316
FRONT BEAM FRONT BEAM STD FRONT BEAM FRONT BEAM
SR512 SRE0L SR801
ELEVATION ON TRAFFIC FACE
CONCRETE Hia DEPARTURE CONNECTION
PARAPET/SMOOTH

FACE RETAINING
WALL/SIGN GANTRY
WITH V60 ANCHOR

MEGAGUARD TOP
RAIL TO BE
GRADUALLY
TAPERED FLUSH
WITH TRAFFIC FACE
TOWARDS
CONCRETE PARAPET
265
REACTION BRACKET
TO ACCOMMODATE |
H2/W2 1.25m HIGH
MEGAGUARD
SYSTEM

1250 MIN.
O/ALL HEIGHT

ANCHOR BOLT

TO C/L FIRST

245

FINISHED4/

ROAD LEVEL

700 MIN.

ARRANGEMENT SHOWN WITH SOCKETED

POSTS. CAN ALSO BE BASEPLATED

500

SECTION A-A

GENERAL NOTES;

1. ALL DIMENSIONS IN MILLIMETRES UNLESS
NOTED OTHERWISE.

2. CONNECTION APPLICABLE TO; CONCRETE H4a
PARAPET, SMOOTH FACE RETAINING WALL OR
SIGN GANTRY.

FOR DETAILS OF STRUCTURE ANCHORAGE, ITEM

V60, SEE DRG. No. SB/155.

4. MEGAGUARD TOP RAIL TO BE TAPERED TO BE
FLUSH WITH TRAFFIC FACE AT END OF
MEGAGUARD & CONCRETE PARAPET. DESIGN
TBD.

5. TOTAL LENGTH OF BARRIER TO BE AS TD19/06,
CHAPTER 3 TABLE 3/1.

ARRANGEMENT & REACTION BRACKET SUITABLE
FOR 1.25m MIN. O/ALL HEIGHT MEGAGUARD
SYSTEM.

01 [07.05.19 NOTES REVISED MT
FULL REQUIRED QUANTITY PER DEPARTURE/RIGHT HAND 12.0m RUN 0 ls0210 DRAWING CREATED "
CODE DESCRIPHON QTY REVN DATE DETAILS INITIAL
SR503 REACTION BRACKET DEPARTURE FOR 1250mm HIGH 1
SR822 INTERMEDIATE SOCKETED POST 1734mm LG 7
SR821 RIGHT HAND END SOCKETED POST 1734mm LG 1 M eg aG ua rd
SR825 MEGAGUARD POST SOCKET 525mm LG 8
SR100 REINFORCING RING (ITEM A21) 8 H 2 W1
SR831 SPACER BRACKET 180mm LG 8 1.25m CONNECTION TO CONCRETE
SR508 INTERMEDIATE RAIL 400mm LG 1 STRUCTURE (V60 CRADLE)
SR509 INTERMEDIATE RAIL 880mm LG 1 DEPART / RIGHT HAND SOCKETED
SR510 INTERMEDIATE RAIL 1130mm LG 2 FULL 12.0m GENERAL ARRANGEMENT
SR830 INTERMEDIATE RAIL 1880mm LG 4 ®
SR815 TOP RAIL TO CONCRETE DEPARTURE 3340mm LG 1 S A F E
SR505 SPECIAL TOP RAIL 3605mm LG 1 CONCORD HOUSE
!
SR811 END TOP RAIL 4980mm LG 1 BESSEMER WAY, SCUNTHORPE,
SR506 BACK BEAM TO CONCRETE DEPARTURE 4133mm LG 1 NORTH LINCOLNSHIRE, DN15 8XE
SR802 STANDARD BACK BEAM 4316mm LG 2 t: 01724 289119
SR512 FRONT BEAM TO CONCRETE 4133mm LG 1 FOR T_ECHNICAL_ ASSISTANCE CONTACT
e: john.cudlipp@saferoad.co.uk
SR801 FRONT BEAM 2316mm LG 2
DRAWING NUMBER: REVN:
SR700 STANDARD FRONT BEAM (VIK) 4316mm LG 1

H2W1-GA-17

01




4300

SR154 - WASHER PLATE

90 x 40 x 5 DIA. 18

NOTE -WASHER IS FOR USE
WITH THE HOLDING DOWN

FIXINGS

SR301 - M10
WASHER 118 HOLE

SR300 - M16
WASHER 18s HOLE

120

§ ol . : .
O [==) [==] [==) [==] [==)
(e0] P ° ° °
SROO1 - STANDARD 3MM BEAM
(CAN BE SUBSTITUTED BY BEAM SR028)
‘ 4300
o == —r—
i gl = = o5 = =
SR028 - A PROFILE 3MM BEAM
200
115
‘ =n —
¥ 12 — I
8y M16 L 3 r
S|4
SR152 - WASHER PLATE M10 o SR200 - SETSCREW 4.6
115 x 40 x 5 DIA. 12 LIP M16x27 c/w NUT H} H}
SR204 - SETSCREW — i 160 i
90 4.6 M10x45 c/w NUT
SR115 - GASKET
35 (NEOPRENE)
v ®
o @ @11 18

250
200

(el

250

150
[ A
(e

570

o

———— L

SR058 - POST UK VERGE

"C" 125 595mm x 5

250

200
t t
0 0
saiEf
| N
0 0
o
o
B
o %
& %, \I
- - 4 -

SR057 - POST UK

CENTER "C" 125 595mm

x5

GENERAL NOTES:
1. CONCRETE TRENCH ONLY - MINIMUM LENGTH 4M
2. FOR DEVIATIONS SEE H1W2-GA-40

3. CAN CONNECT TO HYBRID GA72 OR GA120/GA140 ONLY UNDER
SPECIAL DETAIL APPROVED BY SAFEROAD

4. SYSTEM HAS A V.I. RATING OF VI3

5. VERGE AND CENTRAL RESERVE POSTS ARE HANDED AND NOT
INTERCHANGEABLE.

6. WHERE A KERB IS PRESENT THE MAXIMUM HEIGHT IS 100mm.
SHOULD THE KERB BE HIGHER THAN 100mm AND THE BARRIER
SETBACK LESS THAN 250mm FROM FACE OF KERB, THE SYSTEM
HEIGHT IS MEASURED FROM THE CARRIAGEWAY. IF THE SETBACK IS
GREATER THAN 250mm FROM THE FACE OF KERB, THE SYSTEM
HEIGHT IS MEASURED FROM THE TOP OF THE KERB OR ADJACENT
GROUND LEVEL.

07 |22/09/22 NOTE 6 ADDED A.D
06 |08/07/22 DETAILS CHANGED A.D
05 |19/11/19 BEAM DETAILS ADDED M.T
04 |01/04/19] BEAM DETAILS REVISED M.T
03 [12/02/19 TITLEBLOCK REVISED H.B
02 |31/01/17| STOCK & CODES REVISED L.L
1.3 [20/05/15 DETAILS REVISED M.T

REVn

DATE

DETAILS

INITIAL

MegaRail bs
H1 W2 (VI 3)

H1.W2 VEHICLE RESTRAINT SYSTEM
COMPONENTS SCHEMATIC

SAFE

CONCORD HOUSE,

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

®

DRAWING NUMBER:

H1W2-GA-00

REVn:

07




BEAM TO BEAM LAP CONNECTION
(1 No / 4m BEAM)

— X2 ROWS OF
CONNECTION BOLTS

> SR200 .SR3OO
[ \
— ==V G )
[ =) SR300
T Pr— - / \\
(o) (sm)
s R200 Y SR300
(CAN BE SUBSTITUTED v
BY SR028) N \
N \
\\ \
| | | | A L | ' :
. | | I — ' ' '
—— ! ; 1 // — \‘ 1 1 1
= = = = =1 = = =
T T T I \ 1 i I I
_ == i i i == ; i 1
R -
«
[N}
o©
1333 1333 1334 1333
S0
S
o MIN. 800
7 0 D 0 0 // POST SR057/SR058
_____ B,n | e S —l P
_____ [ - T 7 ] N |
\\ // 4
300 TRAFFIC FLOW ———— ’ o N 7,
BEAM | AN BEAM 7 ” 1 g8
LAP i AN LAP 0 ® 2"
| \\ y // // 8
/’ \\ // // /] °
AN 7 g
| 7 //

SL

e

ELEVATION ON AA

TABLE 'A' - SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM

SAFEROAD UK PART

i

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

2. USE AN M16 FIXING ABLE TO RESIST A TENSILE
LOAD OF 50kN

. WHEN TYING INTO ADJACENT VRS ONLY ONE
WORKING WIDTH DIFFERENCE IS PERMITTED.
WHERE A KERB IS PRESENT THE MAXIMUM
KERB HEIGHT IS 100mm.

. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
REFER TO SAFEROAD MEGARAIL MANUAL.

w

»

w

MegaRail bs
H1 W2 (VI 3)

H1.W2 VEHICLE RESTRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,

NUMBER DESCRIPTION QUANTITY ~ = NORTH LINCOLNSHIRE, DN15 8XE
-—A t: 01724 289119

SRO01 3mm BEAM (CAN BE SUBSITUTED BY SR028) 1 04 |t9/11/19] BEAM DETALSADDED | H.B . )

o |2 MINOR CHANGES AND ie e: john.cudlipp@saferoad.co.uk
SR057/SR058 POST "C" 125 c/w BRACKET 3 SR057/SR0O /02/19|  TITLEBLOCK REVISED :
RIS GASKET (NEOPRENE) 3 INCLINEDTPOST 02 [31/01/17| DETAILS & CODES REVISED | L.L [Trawine nomeer: REw
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING NUMBER H1W2-GA-02 1.4 ]20/05/15 DETAILS REVISED M.T H1W2-GA-01 04

REVN DATE DETAILS INITIAL




SR300

SR300

SR300

SR300

AN

RIGHT HAND BEAM

LEFT HAND BEAM

&

>

NED

BEAM TO BEAM CONNECTION

ARRANGEMENT
(X2 LOCATIONS / BEAM END)

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM

SAFEROAD BEAM TO
UK PART DESCRIPTION BEAM
NUMBER CONNECTION

SR200 SETSCREW 4.6 LIP M16x27 c/w NUT 8 (+8)
SR300 WASHER M16 18¢ HOLE 8 (+8)

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR
CENTRAL RESERVATION INSTALLATIONS THE REFERENCES ARE REVERSED

VARIES WITH OFFSET DIMENSION

;

= -

1

i

10 MIN.
30 MAX
GROUT

BEAM TO POST
CONNECTION TYPE 1

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST

SAFEROAD
UK PART DESCRIPTION ol N
SR204 | SETSCREW 4.6 M10 x 45 c/w NUT 1
SR152 | WASHER PLATE 115 x 40 X 5 DIA. 12 1
SR301 | M10 WASHER 116 HOLE 1
QUANTITY OF CONNECTION TYPES / 4m BEAM
3(+1)

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

CODE CHANGES AND
03 |12/02/19] 117 ppiock Revisen | HB

02 (31/01/17, DETAILS REVISED LL
1.2 |20/05/15 DETAILS REVISED M.T
REVN DATE DETAILS INITIAL

MegaRail bs
H1 W2 (VI 3)

H1.W2 VEHICLE RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVN:

H1W2-GA-02 03




INCLINED C125 POST

—fH————————————— I——‘

S 2
< <
) )
< <
==}
° °
= =
RIGHT HAND BEAM

1 NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END
LEFT HAND BEAM
NOTE: BEAM ORIENTATION
TEARDROP HOLES TO BEAM
DEPARTURE END

TRAFFIC FLOW

300
BEAM
LAP

LEFT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

RIGHT HAND BEAM

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE

CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

03 [12/02/19 TITLEBLOCK REVISED H.B
02 (31/01/17, DETAILS REVISED LL
1.1 |20/05/15 DETAILS REVISED M.T

DATE

DETAILS

INITIAL

MegaRail bs
H1 W2 (VI 3)

H1.W2 VEHICLE RESTRAINT SYSTEM.
BEAM LAPPING DETAIL FOR H1 A W2
SYSTEM.

SAFE

CONCORD HOUSE,

t: 01724 289119

®

BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

H1W2-GA-03

REVN:

03




595
ST
——— 1

550 50
700

500

500

TYPICAL SECTION THROUGH

500

S a4

PLEASE NOTE: CLIENT TO ENSURE GROUND
CONDITIONS ARE SUITABLE PRIOR TO INSTALLATION.
IF UNSURE PLEASE SEEK ADVICE

MINIMUM CONCRETE GRADE: ST5 C20/C25

02

31/01/17

DETAILS REVISED LL

1.4

20/05/15

DETAILS REVISED

M.T

REVn

DATE

DETAILS

INITIAL

MegaRail bs
H1 W2 (VI 3)

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

H1W2-GA-04 02




H1-W3 MEGARAIL

— EXTENT OF H1-W3 SYSTEM
FOR MEASUREMENT PURPOSES

H1-W2 MEGARAIL

SR057/SR058 POSTS

1333 | 1334 | 1333 1333 1334 | 1333
o o o ° °
~— LAST H1-W3 SYSTEM ~— FIRST H1-W2 SYSTEM
POST pPOST
| | |
3 S 1 1 ]
! ! !
| | | + !
1 1 1 - | =3) =3 =)
! ! ! ! / f t t
5 5 =S 5 i i i
' ' ' P——
! ! ! —t—
| | | |
CORRUGATED
BEAM
CORRUGATED
BEAM
.
MegaRail bs
GENERAL NOTES:

\

|

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION
INSTALLATIONS THE REFERENCES ARE REVERSED

NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

H1 W2 (VI 3)

H1.W2 VEHICLE RESTRAINT SYSTEM.
H1-W3 INTO H1-W2 SYSTEM
PROGRESSION CONNECTION DETAIL

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

03 [26/05/21 DETAILS REVISED M.T
02 [12/02/19 TITLEBLOCK REVISED H.B
01 [10/03/17] POST SPACING REVISED LL
00 |31/01/17 NEW DRAWING LL

REVNn DATE DETAILS

INITIAL

DRAWING NUMBER: REVn:

H1W2-GA-20 03




DRILL BEAM TO SUIT
POST LOCATION

\

GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW A
POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE

| | | | | | | |
— i i i —— ~d i 1 OBSTRUCTION. THE NEW POST SPACING MUST
— = = = = ¥ - - NOT EXCEED 3000mm AND MUST NOT BE LESS
C— . . . Co— ; . . THAN 500mm. ALTHOUGH IT WOULD BE
— ] - - —— ] ] i BENEFICIAL TO USE THE HOLES ALREADY IN
! ! ! ! ! ! ! ! THE BEAM IT IS ACCEPTABLE TO DRILL NEW
HOLES IN THE DESIRED POSITIONS AND
y y y ‘ OBSTRUCTION ‘ y y TREAT WITH ZINC RICH PAINT.
I |
Tz
1333 MIN. 500 MAX. 3000 MIN. 500 1333
DRILL BEAM TO SUIT
POST LOCATION
— ; ; \ ; ; —— ; ;
= 3 % = — - = =
= | —— == | |
A A A OBSTRUCTION i A
Iz
1333 MAX. 3000 1333
o o] T
01 |10/03/17 NOTES REVISED LL
— ! ! ! —— ! ! 00 |31/01/17 NEW DRAWING LL
:E § § § : § : § § REVNn DATE DETAILS INITIAL
= | | | = | | .
MegaRail bs
OBSTRUCTION
(] (] (] i | C H1 W2 (VI3
H1.W2 VEHICLE RESTRAINT SYSTEM
1333 1333 MAX. 3000 1333 DEVIATION SETTING OUT

ARRANGEMENT

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

H1W2-GA-40 02




4300

306

115

QQ

40

#

SR152 - WASHER PLATE
115x40 x 5 DIA. 12

PLATE DIMENSION

SR028 - A PROFILE 3mm BEAM

|—

70‘

=ﬁB

004.00 - SUPPORT

MAX 700

SURFACE MOUNTED
POST

BRACKET

45

1

SR204 - SETSCREW 4.6 SR200 - SETSCREW 4.6

M10x45 c/w NUT

@@11

SR301 - M10
WASHER 11¢
HOLE

S8

16

=<

‘ ~

LIP M16x27 c/w NUT

SR300 - WASHER
189

PLATE DIMENSION

50

TBD
O'ALL HEIGHT
TBD
O'ALL HEIGHT

MAX 700

SURFACE MOUNTED
POST

50

APPROACH
OFFSET POST

400

PLATE DIMENSION

700 MAX

CAN BE FIXED WITH

CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR
PUSHED IN ANCHORS
AT 180x180 CENTERS

DEPARTURE
OFFSET POST

400

*BASEPLATE DRILL

PLATE DIMENSION

& TAPPED FOR
LIFTING EYE

700 MAX

63 ‘ 63 ‘
LN N
N N
i i
|
> = o o
[==]
o
S
S
~
o
=)
<
N

2000mm

034.00 - POST "C" 125
2400mm

—

SR100 - A21
REINFORCING
RING

63

125

1800

63

n
~
i
n
N
™
(o]
a
o
=} [
i
i

034.00 - POST "C" 125
1100mm

034.00 POST "C" 125

1800mm

034.00 - POST "C" 125

65 INT.

470 128 INT
| |
| |

SR080 - C-125
POST SOCKET
x 470

o

o

[Tp]
SR081 - C-125
POST SOCKE

x 520

230

220

SURFACE MOUNTED -

TYPE C-125 POST

65 INT.

4_‘ ‘«

128 IN

570

SR083 - C-125
POST SOCKET
x 570

OFFSET PLATE DETAIL
i el SURFACE MOURTED POST >
01 |25/05/22 BASE CHANGED A.D
00 |15/01/20|  DRAWING CREATED M.T
REVNn DATE DETAILS INITIAL

Super-Rail ES 1.0
L1 W2

VEHICLE RESTRAINT SYSTEM
COMPONENTS SCHEMATIC

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

SRL1W2-GA-00 02




()

BEAM TO POST CONNECTION TYPE 1
AND BEAM TO BEAM LAP CONNECTION
(1 No / 4m BEAM)

— x2 ROWS OF
CONNECTION BOLTS

SR200 \ SR300

SR200 ) SR300
/R
\

SR200 ) SR300

\

\
\
\

3

306

\
1
T

L

750

444

1000

1000 1000 1000

1000

1000

1000

POST
CONNECTION
TYPE 1

POST
CONNECTION
TYPE 1

POST CONNECTION
TYPE 1

POST
CONNECTION
TYPE 1

POST CONNECTION
TYPE 1

TRAFFIC FLOW

TABLE 'A' - SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM

SAFEROAD UK

PART NUMBER DESCRIPTION QUANTITY
SR028 BEAM "A" PROFILE 3mm 1
034.00 POST "C" 125 4

NUMBER SRL1W2-GA-02

FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING

300
BEAM
LAP

MIN. 800

697

POST C 125 —'
|
|
|
|
|

597 £50

750

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. FOR OPTIONS ON POST FOUNDATIONS REFER
TO DRAWING NUMBER MR-GA-020

4. FOR DEVIATIONS IN SYSTEM POST PITCH
REFER TO DRAWING SRL1W2-GA-40

5. WHEN TYING INTO ADJACENT VRS ONLY ONE
WORKING WIDTH DIFFERENCE IS PERMITTED.

6. WHERE A KERB IS PRESENT THE MAXIMUM
KERB HEIGHT IS 100mm. SHOULD THE KEREB
BE HEIGHER THAN 100mm AND THE FENCE IS
SETBACK LESS THAN 250mm FROM FACE OF
KERB THE SYSTEM HEIGHT IS MEASURED FROM
THE CARRIAGEWAY. IF THE SETBACK IS MORE
THAN 250mm FROM THE FACE OF KERB THE
SYSTEM HEIGHT IS MEASURED FROM THE TOP
OF THE KERB. SEE MR-GA-002.

7. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
REFER TO SAFEROAD MEGARAIL MANUAL.

00 [15/01/20 DRAWING CREATED M.T

REVn DATE DETAILS

Super-Rail ES 1.0
L1 W2

VEHICLE RESTRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

SRL1W2-GA-01 00

INITIAL




RIGHT HAND BEAM 034.00 GENERAL NOTES:

SR028 1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
LEFT HAND BEAM COMPONENTS REQUIRED FOR EXTREME ENDS
SR200 OF INDIVIDUAL RUNS OF BARRIER.
SR301 i
/—..SR204
- he—h--
et

e

SR300

|
-H

SR300

>
0

SR300

W U

SR300

N
|
|
|
|
|
|
|

N
\

BEAM TO BEAM CONNECTION BEAM TO POST

ARRANGEMENT CONNECTION TYPE 1
(x2 LOCATIONS / BEAM END)

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM BOLTING COMPONENT SCHEDULE - QUANTITIES / POST
SAFEROAD BEAM TO
UK PART DESCRIPTION BEAM SGEE;‘&‘.}D DESCRIPTION TYPE 1
NUMBER CONNECTION NUMBER CONNECTION
SR200 | SETSCREW 4.6 LIP M16x27 c/w NUT 8 (+8)
SETSCREW 4.6 M10 x 45 c/w NUT
SR300 | WASHER M16 182 HOLE 8 (+8) SR204 x 45 c/w !
SR152 | WASHER PLATE 115 x 40 x 5 DIA. 12 1
SR301 | WASHER M10 128 HOLE 1
00 [15/01/20(  DRAWING CREATED MT
REVNn DATE DETAILS INITIAL

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED

Super-Rail ES 1.0
L1 W2

VEHICLE RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

SRL1W2-GA-02 00




POST C125

SUPPORT BRACKET

0 °
= =
< <
D
o o
< S
| RIGHT HAND BEAM
1 NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END
LEFT HAND BEAM
NOTE: BEAM ORIENTATION
TEARDROP HOLES TO BEAM
DEPARTURE END
TRAFFIC FLOW
]
——
|
I
|
L ——m—————————
LEFT HAND BEAM RIGHT HAND BEAM

LAPPED OVER RIGHT HAND BEAM

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

00 [15/01/20 DRAWING CREATED M.T

REVn DATE DETAILS INITIAL

Super-Rail ES 1.0
L1 W2

VEHICLE RESTRAINT SYSTEM.
BEAM LAPPING DETAIL FOR L1W2
SUPER-RAIL ES 1.0 SYSTEM

SAFE @

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

SRL1W2-GA-03 00




GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW A
POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION. THE NEW POST SPACING MUST
NOT EXCEED 3000mm AND MUST NOT BE LESS
THAN 500mm. ALTHOUGH IT WOULD BE
BENEFICIAL TO USE THE HOLES ALREADY IN
THE BEAM IT IS ACCEPTABLE TO DRILL NEW
HOLES IN THE DESIRED POSITIONS AND
TREAT WITH ZINC RICH PAINT.

2. OFFSET POSTS SHOWN ON DRAWING
SRN2W2-GA-00 CAN BE USED. INSERT THE
ORIGINAL POST SPACING INSTEAD OF 3000mm

| | | | | | | | | | |
1 1 1 1 1 1 1 1 1 1 1
2] 3] 2 3 ) C2) C:) 2] 5 ) )
| | | | | | | |
i i i i i i i i

‘ OBSTRUCTION ‘
| |

T4/

1000 1000 MIN. 500 MAX. 3000 MIN. 500 1000

00 |15/01/20 DRAWING CREATED M.T

REVn DATE DETAILS INITIAL

Super-Rail ES 1.0
L1 w2

VEHICLE RESTRAINT SYSTEM
DEVIATION SETTING OUT
ARRANGEMENT

SAFE )

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

SRL1W2-GA-40 00




BMIDH1C2

Double sided safety barrier

O
INDUSTRIAS BARRIER

DUERO

770+ 20

Lo ] o | Lo )
L 2000 2000 N
FRONT VIEW
(without scale) -
TRAFFIC FLOW

2000 2000

-—

TOP VIEW TRAFFIC FLOW
(without scale)

i

_ | TRAFFIC FLOW

] 2000 2000 i
POST 1700 BACK VIEW
(without scale)
INDUSTRIAS DUERO e ] S
i : Gonzalez Davila, 1. 28031 Madrid (Spain) e ? T
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 = Ex R

duero@industriasduero.com




BMIDH1C2 ~ 12m END TREATMENT TO GROUND
Double sided safety barrier DUERO

- B L A
T R . L
GROUND - -———————"‘T_—’_h*i;Wj e | {1 i
(e W | l‘ g:
U ——— l' I | |
|
U

I H H ! H
I | ! '~ B - A
L 1996 L 1996 _l_ 1996 J_ 1996 J_ 1996 1996 2000 2000

L 12 M END TREATMENT STRAIGHT SECTION il
—
v END TREATMENT ASSEMBLY ~ END TREATMENT ASSEMBLY : USUAL ASSEMBLY
TRAFFIC LOW (AS SECTION B-B) (AS SECTION B-B) (AS SECTION A-A)

—

TRAFFIC FLOW

SECTION A-A

BARRIER
ON BOTH SIDES BOLT M16x30 RH SECTION B-B

! NUT M16
i T WASHER M16
- % BARRIER
§ ' ON BOTH SIDES

R ! BOLT M10x40 HH R
} 2xRECT. PLATE 100x35x5 D12
‘ NUT M10 @ -
\ > ¢ 3
: | - 1=
KA W% BOLT M16x30 RH
1w A VA NUT M16
WASHER M16
POST 1700 POST 1700
INDUSTRIAS DUERO memeno &
P H Gonzalez Davila, 1. 28031 Madrid (Spain) e F—2
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 Y w

duero@industriasduero.com




-
BMIDH1C2

JOINTS

. . INDUSTRIAS
Double sided safety barrier DUERO
_~BARRIER
//
BARRIER NUT M10— 5
ON BOTH SIDES

|
T | e ——

|
o -
" BOLT M10x40
HEXAGONAL HEAD
POST 1700 - RECTANGULAR PLATE
100x35x4 D12
~~NUT M16
o ol = ~
X y . WASHER M16
R
“' "\
| BARRIER
» \\ ) /
S BOLT M10x30
ROUND HEAD
S
POST 1700
INDUSTRIAS DUERO e ] S
i : Gonzalez Davila, 1. 28031 Madrid (Spain) " ? NNt 2
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 =N Ex e

duero@industriasduero.com




-
BMIDH102 INDUSTRIAS ASSEMBLY

Double sided safety barrier DUERO

FRONT ASSEMBLY

LIST OF COMPONENTS (4 m)
ELEMENT QTY. NAME DESCRIPTION
1 2 'BARRIER '2-WAVE BEAM E=2,5 MM L=4,318 MM
2 2 POST 'C120x68x18x5 L=1700 MM
3 4 'BOLT M10x40 'HEXAGONAL HEAD - ISO 4017
4 8 PLATE 'RECTANGULAR - 100x35x5 D12
5 4 'NUT M10 'HEXAGONAL - ISO 4032
6 16 'BOLT M16x30 'ROUND HEAD M16x30
7 16 NUT M16 'HEXAGONAL - ISO 4032
8 16 WASHER M16 FLAT - ISO 7089
INDUSTRIAS DUERO )
P : Gonzalez Davila, 1. 28031 Madrid (Spain) "
www.industriasduero.com Tel +34 917 775 001. Fax +34 917 789 501 ¥

GALVANIZACION

duero@industriasduero.com




TIPO A
woo 5
SE—,
L
133£2
1100+ 5
TIPOA
.H
<
[ N
N J
50+ 1
Y
N7
I
ﬁﬁx
LN
N
1_?
.H
c 5+ 0,26 a
&
\L —— /|
. Proyecto: OFTN®1370
68+ 1 INDU?TRIAS Titulo: POSTE "C" 120x68x5 x 1100 - $275JR
DUERO Codigo: Dibujado por: Aprobado por:
PESO EN NEGRO: 11’048 kg Dep. Oficina Técnica 2018 FIM JAV
ACABADO: GALVANIZADO. Excepto indicacion especifica: E @7 Escala: Fecha: Revisién HFeChCI de revision
ELEMENTO N© DE PIEZA DESCRIPCION MATERIAL | MASA | "Vocidoiotea oeenias 1512 | 1208200 [ 7
1 POSTE C120x68x18x5 L=1100 MM S275JR 11,048 Kg | Govaniodo acode d UNEEN 1461 | Goerionrasanados eomce tioniida soroprocecn pornl o ot Como o eneas o oot

1 { 2 { 3 4 5 { 6




1 2 3 4 5 6
\
- T - 1 i -
S <
:::::I‘::::::::::::::::::::::::::::::: - -
TIPO A
0o 72
d—>P S S
Il
1331+ 2
2400t 5

TIPO A

18min

i
.H
%
S
W
50 1
’\/)9\/
<
(T
LN
N
.l.l
540,26 S
Mﬁ—//

68+ 1

PESO EN NEGRO: 24,183 kg
ACABADO: GALVANIZADO.

‘ Proyecto: OFTN®1532
——
s ‘. .
Titulo: POSTE "C" 120x68x5 x 2400 - S275JR
INDUSTRIAS
DUERO Cédigo: Dibujado por: Aprobado por:
Dep. Oficina Técnica 2020 FIM JAV
Excepto indicacién especifica: Escala: Fecha: Revisién HFeChCI de revision
Tolerancias acordes a UNE-EN 22768 E B 1:5,1:2 22-04-2020

Material acorde a UNE-EN 10025
Soldadura acorde a UNE-EN 15614
Galvanizado acorde a UNE-EN 1461

El presente documento es propiedad de Industrias Duero - Dep.Oficina Técnica, todos los derechos
quedan reservados estando prohibida su reproduccién parcial o total como la entrega a terceros

4

5

6




18min

S S
:::::I‘::::::::::::::::::::::::: - - - -
TIPO A
0o 5 Y Y 7
—>P S S
1
133+ 2
20005

TIPO A

i
_|_|
[o0)
i
50+ 1
N
%
\"\/
<

LN

N

i

.l.l

540,26 o

—

Q ’ Proyecto: OFTN®1542
- ——
! ! / - T'.I. lo: e
ITUIO: POSTE "C" 120x68x5 x 2000 - S275JR
INDUSTRIAS
68 + 1 DUERO Caédigo: Dibujado por: Aprobado por:
Dep. Oficina Técnica 2020 FIM JAV
Excepto indicacién especifica: B Escala: Fecha: Revisién HFeChCI de revision
PESO EN NEGRO: 20,141 kg Tolerancias acordes a UNE-EN 22768 E 1:5,1:2 12-05-2020 H
Material acorde a UNE-EN 10025
ACABADO GALVANIZADO Soldadura acorde a UNE-EN 15614 El presente documento es propiedad de Industrias Duero - Dep.Oficina Técnica, todos los derechos
Galvanizado acorde a UNE-EN 1461 quedan reservados estando prohibida su reproduccién parcial o total como la entrega a terceros

2 3 4 5 | 6




[ )
BMIDH1C?2 INDUSTRIAS DUERO, S.L.

H1 Double Sided Safety Barrier. Installation procedure

INSTALLATION PROCEDURE

This document describes the procedure to follow for the installation of the
H1 double sided safety barrier with posts every 2 metres. The installation
consists of the following stages:

Material distribution and preparation.
H1 barrier assembly.

12 m end terminal assembly.

Barrier disassembly.

PwpdPE

1.- Material distribution and preparation.

1. Unload the materials which make up the system longitudinally along
the length of the section where it is to be installed
2. Post-driving machine guided by barrier elements:

a. Place the elements face up and overlapping so that the drill
holes of the double wave beams coincide with the edge of
the road to be protected and spaced from the post-driving
line a minimum of 40 cm and a maximum of 70 cm.

b. Align the beams on the ground.

Post-driving machine with automatic guiding system:
Lay out the post-driving line according to the final position
of the barrier on the ground plan.

2.- Driving the posts and assembling the components

1. Place the guide wheels of the post-driving machine in the previously
aligned beams.

2. Lay out the post-driving distance as compared to the ground plan
position of the barrier on the road: 201 mm from the rear face of the
post.

3. Drive the C120x68x18x5x1700 mm posts every 2000 £55 mm at a
height of 748 mm measured from the road level.

4. Assemble the overlapping of the 2-wave beams nearest to the
carriageway. The final position of the beam overlaps will be such
that the 2-wave beam seen from the direction of the traffic flow must
overlap the one immediately after it and there are no protrusions in
the safety barrier.

5. Fasten the central mounting hole of the post with an M10x40 5.8
hexagonal head bolt, two 100x35x5 plates (one placed horizontally
between the head of the bolt and the beam and the other vertically
between the post and the nut), an M10-5 nut at the back tightened
to 20+4 Nm torque.



BMIDH1C2

()
INDUSTRIAS DUERO, S.L.

H1 Double Sided Safety Barrier. Installation procedure

6.

10.

11.

Fasten the overlap (without tightening) using 8 M16x30 8.8 round
head bolts and M16-8 nuts + 17x35x4 rear washers. The height of
the upper part of the barrier relative to the road level must be 770
+20 mm.

Level the beam and tighten the M16x30 8.8 bolts with a torque of
150+10 Nm.

Assemble the overlapping of the 2-wave beams furthest to the
carriageway. The final position of the beam overlaps will be
opposite to the one previously installed on the other side.

Fasten the central mounting hole of the post with an M10x40 5.8
hexagonal head bolt, two 100x35x5 plates (one placed horizontally
between the head of the bolt and the beam and the other vertically
between the post and the nut), an M10-5 nut at the back tightened
to 20+4 Nm torque.

Fasten the overlap (without tightening) using 8 M16x30 8.8 round
head bolts and M16-8 nuts + 17x35x4 rear washers. The height of
the upper part of the barrier relative to the road level must be 770
+20 mm.

Level the beam and tighten the M16x30 8.8 bolts with a torque of
150+10 Nm.

3.-12 m end terminal assembly.

Drive the posts so that the distance between them is 1996 mm in
elevation and the height is such that the upper part of the end of the
terminal piece is at the road level.

Install the buffer end piece at the end of the last two parallel beams
using 16 M16x30 8.8 round head bolts and M16-8 nuts + 17x35x4
rear washers with a tightening torque of 15010 Nm.

Fasten the remaining beams with 8 M16x30 8.8 round head bolts
and M16-8 nuts + 17x35x4 rear washers with a tightening torque of
150+10 Nm.

Excavate the ditch at the end of the section to house the buffer end
element and part of the last two parallel beams.

Place the beams into the ground and fasten them to the posts with
M16x30 8.8 round head bolts and M16-8 nut + 17x35x4 rear washer
with a tightening torque of 150+10 Nm.

4.- Barrier disassembly

1.

N

Remove all the fastening elements of the barrier overlaps (M16X30
8.8).

Unfasten the bolts and nuts that join the beams to the posts.
Remove the beams.

Take the posts out of the ground.



[ )
BMIDH1C?2 INDUSTRIAS DUERO, S.L.

H1 Double Sided Safety Barrier. Installation requirements: Tightening Torques.

TIGHTENING TORQUES

The following table contains the tightening torques for the various joints of the
Double Sided Safety Barrier, indicating the components involved and the type of
bolt used for each one:

TIGHTENING
DESCRIPTION OF THE JOINT TYPE OF BOLT TORQUE
(Nm)

2-WAVE BEAM / Round-head Bolt

(SI;,(\)/'?;YE r?nl;:rgl}/ls) M16x30-8.8 / C4-00202 Al

2-WAVE BEAM / Round-head Bolt

BUFFER END M16x30-8.8 / C4-00202 15020

Hexagonal-head Bolt
M10x40-5.8 20+4
UNE-EN ISO 4017

2-WAVE BEAM / RECTANGULAR PLATE
100x35x5 / POST

POST / 2-WAVE BEAM Round-head Bolt

(in terminals) M16x30-8.8 / C4-00202 |  -o0*20




BMIDH1C?2 INDUSTRIAS DUERO, S.L.
H1 Double Sided Safety Barrier. Component Weights.

COMPONENT WEIGHTS
SAFETY BARRIER BMIDH1C2
CODE DESCRIPTION GALVANIZED WEIGHT (kg)
C4-00192 FLAT WASHER 17X35x4 0,025
C3-00199 POST C120x68x18x5 L=1700mm 17,85
C3-00200 2-WAVE BEAM e=2,5mm 41,54
C4-00201 RECTANGULAR PLATE 100x35x5 0,135
C4-00202 M16x30 8.8 ROUND HEAD BOLT 0,085
C4-00213 M10x40 5.8 HEX BOLT 0,03
C4-00214 M10-5 HEX NUT 0,01
TC4-00284 BUFFER END 15
UNE-EN ISO 4034 M16-8 HEX NUT 0,035




[ )
BMIDH1C?2 INDUSTRIAS DUERO, S.L.

H1 Double Sided Safety Barrier. Coating on system components.

NOTES ON COATINGS

The various components that make up the H1 Double Sided Safety Barrier
presented in this document are hot-dip galvanized in compliance with EN ISO
1461.

The system fastening elements are hot-dip galvanized in compliance with EN
ISO 10684.

The component referred to as the 100x35x5 rectangular plate has a
galvanization coating thickness in compliance with EN ISO 1461 for a
centrifuged sample.



WELDING SYMBOLS
N fue

Pmlm

M\ s

R oovees ves urr

@ SwoLE veE puTr

TT SQUARE BUTT SEAL ON REVERSE

el AL s e e MACHINING NOTES FABRICATION NOTES WELDING
o — /.E.’J‘,‘—MD PO ——— Towies s SPECIFICATION
e REMOVE SHARP

STE wewo ON SME WELD 2° MSS 4° £ 0.062°(1.5mm)
/: /(" 4 STATED OTHERWISE

IF IN DOUBT,ASK.

DRAWING NOT TO BE SCALED.

TRANSITION ELEMENT TO FOLLOW
1:61 DOWNWARD TAPER OVER 10.3M

START OF DOWNWARD ROTATIONAL AXIS POINT A
A TAPER OR GATE OPENING
B - N
T 161 TAPER T
4300 2309 4820 2353 2353
MEGARAIL EC CORRUGATE TO SAFESTAR 231 — SAFESTAR GATE SAFESTAR GATE
CORRUGATE BEAM TRI-WAVE CONNECTION 320 TRI-WAVE BEAM @ Ezg HINGED BEAM HINGED BEAM Esg
LAP ‘ | | | |
fgg | | | ; ; = x : : ; : : ——
; T 1 1 [-I-N-) $
— | | | | | —— T ———f— i i i i g # EI I
+ T T T - 1 = = } T NN § =55
m— : : : : ; == == : : : : — i 1 1 =
Tp) ‘ ‘ ‘ n Q T ! ! ! o o o
< 5 ~ % o . o o o S
© 3 w 0 s 0 2 2 2 | JDINT ASSEMBLEY | *
(o] o 0
GATE POSTS 4-11
APPROACH ELEVATION ON SINGLE SIDED SAFETY BARRIER UTSDINBGE AISNSSDTCAILALTEE% "
TRAFFIC FLOW TRANSITION INTO SAFESTAR GATE FOUNDATION DETATL &
SCALE: 1:40
. .
POSTS 1-3 WITHIN GATE TO
START OF HAVE FLIPPED ORIENTATION
SAFESTAR GATE.
® ® @
‘ 1333 ‘ 1333 ‘ 1333 ‘ 2000 ‘ 1500 ‘ 1500 1500 1125 770 1635 2250
0 0 0 0 7 1 I 41 @] i)
IH m HI ; L ! L L 1 1 1 | I | L ; L ; Lf_‘L:I ; ; 111\) (}}}1 ; ; I‘l‘l
n Ip} n
TRI-WAVE o ~ ~
FISH TAIL
4300 2310 4820 JOINT ASSEMBLEY
MEGARAIL EC 3.3 CORRUGATE TO TRI-WAVE SAFESTAR 231 ‘ ‘ JDFIANSTTADSEEEEENLGEY
BEAM CONNECTION 0.8° INWARDS TAPER 0N
CONNECTION INTO APPROACH SHORTENED HINGE BEAMS
MEGARAIL EP SECTION A—A
SCALE: 1:40
BEAM FIXE 175MM/
TO ‘SIDE’ 145MM
BEAM FIXED T SPACER
TRAFFIC FACE GENERAL NOTES;
SPACER )
S (0] ‘ 1. ALL DIMENSIONS IN MILLIMETRES UNLESS NOTED OTHERWISE.
; ; | ] } } 2, FOR DETAILS OF MEGARAIL EC 3.3, REFER TO MEGARAIL MANUAL.
= 0
L N | L | 3. FOR DETAILS OF SAFESTAR 231, REFER TO MEGARAIL MANUAL
| |
Lo || Z|= & 4, TRANSITION TO/FROM SAFESTAR GATE TO BE TAPERED AT A RATID OF 16l
L z|x zix |l =2 o | g
— = o
z|x I =|= == | | &l o || S.  SAFESTAR GATE APPROACH HINGED BEAMS CREATE TAPER EFFECT - USE
== b 3w B|w oo TRI-WAVE FISH TAIL IN THESE LOCATIONS WHEN CLOSING OUT TO SINGLE
2l L ~IN @ oo | | | ] SIDED SYSTEM. FISH TAIL MUST BE INSTALLED ONTO OFFSIDE BEAM.
O |0
o || || 6. POSTS 4-11 WITHIN GATE TO BE INSTALLED ON ASSCOCIATED FOUNDATION
} } ‘ ‘ ‘ ‘ DETAIL
| |
L | | | ] 7. DEPARTURE CONFIGURATION AS PER APPROACH.
SECTION B-—B SECTION C-—C SECTION D-D
(MEGARAIL EC 3.3) (SAFESTAR 231) (SAFESTAR GATE 1-—3 POST)
SCALE: 1:20 SCALE: 1:20 SCALE: 1:20
ol [o7/11/22 OFFSIDE BARRIER AMENDMENTS H.B
REVN. DATE REMARKS SIG.
SAFE RDAD@ TITLE:— ORDER No:— MATL:— DRAWN:— CHECKED:— CHECKED QA:—
ves b GENERAL ARRANGEMENT OF SINGLE SIDED N2 SAFETY BARRIER _M.BRYDON | J.C
— DATE:— SCALE:— APPROVED:—
Corons TRANSITON TO SAFESTAR GATE T rroeoN — 0171 1/22 1:50
Be " _
e SILVERTOWN TUNNEL PROJECT NEWTON & FROST FENCING LTD L DRG NO— UK 25623 ==Y
Tel: 01724 289119 Fax: 01724 281478




‘ 4300
Ive) 3 3
8 ._CE — == =2 P
SR001 - BEAM
(CAN BE SUBSTITUTED BY BEAM SR028)
‘ 4300
Ite) s s
o =) == == [==) ==
™ - -

SR028 - A PROFILE 3MM BEAM

115

40

@12
@22

45

1
= 27
N

M10 SR200 - SETSCREW 4.6
LIP M16x27 c¢/w NUT

SR152 - WASHER PLATE

115 x40 x 5 DIA.12
SR204 - SETSCREW

4.6 M10x45 c/w NUT

@ @18

SR300 - M16
WASHER 182 HOLE

‘ @11

SR301 - M10
WASHER 11¢ HOLE

OFFSET DIMENSION
700 MAX

OFFSET DIMENSION
700 MAX

SURFACE MOUNTED
POST

SURFACE MOUNTED
POST

TBD
O/ALL HEIGHT
TBD
O/ALL HEIGHT

APPROACH DEPARTURE
OFFSET POST  CAN BE FIXED WITH OFFSET POST
CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR
PUSHED IN ANCHORS
AT 180x180 CENTERS

s 8.8 3 o %

g 8 8 6 °

o

400
400

o
o

PLATE DIMENSION
700 MAX

PLATE DIMENSION
700 MAX

55

100
™M

00o

2400

SR0O75 - TYPE 'A'
POST SIGMA 100
2400mm

—

SR100 - A21
REINFORCING
RING

SR090 - SIGMA
100 POST
SOCKET x 420

SR091 - SIGMA
100 POST
SOCKET x 470

55 . 55 - 55 o - 220
g 8 8 0 0
i I d iy o o
o o
™M Z o~
T el T Te 0 0
% 2 A D
[N
(o]
o
()
oM
o =
=
‘ 220
§ SURFACE MOUNTED TYPE
— 'A' SIGMA 100 POST
S
N —_
SR0O73 - TYPE 'A'
POST SIGMA 100
1100mm
- 70 -
o
o
o
SRO71 - TYPE 'A' SR110 - BRACKET
POST SIGMA 100  STUB IRON
— 1900mm 200 x 3
SR072 - TYPE 'A'
POST SIGMA 100
2100mm
60 INT.
60 INT. i |
60 INT. | =
-~ 1| = a
E = ey
=2 [T} —
= o
n i .
8 e pr—
o
o o
I N 0
oY

SR092 - SIGMA
100 POST
SOCKET x 520

POST TOP DRILLING

ARRANGEMENT
o) (e}
o O
(0]
O
TYPE 'A' TYPE 'B'
SURFACE MOUNTED POST
07 |13/05/22 BASE CHANGED AD
06 (27/05/21 DETAILS REVISED M.T
05 (19/11/19 BEAM DETAILS ADDED M.T
04 (12/02/19 TITLEBLOCK REVISED M. T
03 (10/03/17 OFFSET POST REVISED L.L
02 (30/01/17 DETAILS REVISED L.L
1.3 [21/05/15 DETAILS REVISED L.L
REVn DATE DETAILS INITIAL

MegaRail ESP4.0
N2 A W5

N2.W5 ROAD RESTRAINT SYSTEM
COMPONENTS SCHEMATIC

SAFE

Cco

NCORD HOUSE,

®

BESSEMER WAY, SCUNTHORPE,

NORTH LINCOLNSHIRE, DN15 8XE

t:

01724 289119

e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

N2W5-GA-00

REVN:

07




(CAN BE SUBSTITUTED
BY SR028)

BEAM TO POST CONNECTION TYPE 1

AND BEAM TO BEAM LAP CONNECTION

(1 No / 4m BEAM)

x2 ROWS OF
CONNECTION BOLTS

SR200 | SR300
= (sra00)(sr00)

:

\

— SR200 ) SR300

\

N \
\ \
N\ \

N \

GENERAL NOTES:

1. P.S.B. = POINT FROM WHERE SET-BACK IS
MEASURED.

2. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

3. FOR OPTIONS ON POST FOUNDATIONS REFER
TO DRAWING NUMBER MR-GA-020

4. FOR DEVIATIONS IN SYSTEM POST PITCH
REFER TO DRAWING N2W5-GA-40

5. WHEN TYING INTO ADJACENT VRS ONLY ONE

WORKING WIDTH DIFFERENCE IS PERMITTED.

. . | | | N — ] | 6. WHERE A KERB IS PRESENT THE MAXIMUM
= < I I I 7 ——— \\ 1 1 KERB HEIGHT IS 100mm.
= Zi C3 2 C2 ] ] C2 C| 7. FOR MINIMUM LENGTH OF FULL HEIGHT VRS
o ] ] ] - ] ] REFER TO SAFEROAD MEGARAIL MANUAL.
3 | | | | [T 1 1
3
<
4000
POST S0
CONNECTION
TYPE 1 LAP
MIN. 1700
SIGMA 100 POST —l
TRAFFIC FLOW ———~ S B B
R [l 3 &
TYPE 1 CONNECTION — it
/I
MegaRail ESP4.0
N2.W5 VEHICLE RESTRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT
®
TABLE 'B' - SCHEDULE OF POST S A F E
SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM REFERENCE NUMBERS AND
SAFEROAD LENGTHS CONCORD HOUSE,
UK PART DESCRIPTION QUANTITY BESSEMER WAY, SCUNTHORPE,
SAFEROAD UK | pogr | engTH
NUMBER PART NUMBER NORTH LINCOLNSHIRE, DN15 8XE
— BEAM "A" PROFILE (CAN BE 1 04 |19/11/19]  BEAM DETAILS ADDED M.T t: 01724 289119
SUBSTITUTED BY SR028) SRO73 1100 e: john.cudlipp@saferoad.co.uk
SR110 BRACKET STUB IRON 200 x 3 1 SR071 1900 03 |12/02/19]  TITLEBLOCK REVISED MT
POST SIGMA 100 1 SR072 2100 02 |30/01/17 DETAILS REVISED L.L [ DRAWING NUMBER: REVN:
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING SRO75 2400 1.3 [21/05/15 DETAILS REVISED LL

NUMBER N2W5-GA-02

DATE

DETAILS

INITIAL

N2W5-GA-01 04




RIGHT HAND BEAM

LEFT HAND BEAM

()

g
N4

MR180

>

Ve
>
0

\ @

BEAM TO BEAM LAP
CONNECTION ARRANGEMENT
(x2 LOCATIONS / BEAM END)

BOLTING COMPONENT SCHEDULE - QUANTITIES / BEAM

SAFEROAD BEAM TO
UK PART DESCRIPTION BEAM
NUMBER CONNECTION

SR200 | SETSCREW 4.6 LIP M16x27 c/w NUT 8 (+8)
SR300 | WASHER M16 18¢ HOLE 8 (+8)

@)

i)

BEAM TO POST
CONNECTION TYPE 1

BOLTING COMPONENT SCHEDULE - QUANTITIES / POST

SAFEROAD
UK PART DESCRIPTION oo
SR204 | SETSCREW 4.6 M10x45 c/w NUT 1
SR152 | WASHER PLATE 115 x 40 x 5 DIA, 12 1
SR301 | WASHER M10 119 HOLE 1
QUANTITY OF CONNECTION TYPES / 4m BEAM
1(+1)

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

03 [12.02.19 DETAILS REVISED M.T
02 (30/01/17, DETAILS REVISED LL
1.3 |21/05/15 DETAILS REVISED LL
REVD DATE DETAILS INITIAL

MegaRail ESP4.0
N2 A W5

N2.W5 VEHICLE RESTRAINT SYSTEM
BOLTING ARRANGEMENTS

SAFE ’

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W5-GA-02 03




THIS HOLE

SIGMA 100 POST FOR BEAM
( INSTALLATION
B
o
?
|
|
|
|
|
I
BRACKET STUB IRON
f
(@)

- RIGHT HAND BEAM
NOTE: BEAM ORIENTATION CIRCULAR
HOLES TO BEAM APPROACH END

LEFT HAND BEAM

NOTE: BEAM ORIENTATION

TEARDROP HOLES TO BEAM TRAFFIC FLOW
DEPARTURE END

LEFT HAND BEAM RIGHT HAND BEAM
LAPPED OVER RIGHT HAND BEAM

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

04 |17.12.21 DETAILS REVISED A.D
03 (12.02.19 DETAILS REVISED M.T
02 (30/01/17 DETAILS REVISED L.L
1.3 |21/05/15 DETAILS REVISED L.L
REVn DATE DETAILS INITIAL

MegaRail ESP4.0
N2 A W5

N2.W5 VEHICLE RESTRAINT SYSTEM.
BEAM LAPPING DETAIL FOR W5
MEGARAIL SYSTEM

SAFE ®

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W5-GA-03 04




— EXTENT OF N2-W4 SYSTEM

FOR MEASUREMENT PURPOSES
N2-W4 ESP4.0 N2-W5
SIGMA 100 POSTS
4000 4000 |
o S
—~— LAST N2-W4 SYSTEM FIRST N2-W5 SYSTEM —
POST POST (SIGMA 100)
BRACKET STUBIRON —— H
|
] ] ] = —
- - 1 1 1 3 -
= | | | ==
! ! ! — - | == == == ==
! ! ! - ; f f f "
£ =) 5 E2) i i i —
i i i =
1 1 1 - -
| | |
CORRUGATED
BEAM
CORRUGATED
BEAM
TRAFFIC FLOW
MegaRail ESP4.0
GENERAL NOTES:
NOTE: BEAM ORIENTATION CIRCULAR 1 pOSTS ARE TO BE INSTALLED WITH THE N 2 A W5

HOLES TO BEAM APPROACH END
' = oS FACE OF e CHANNEL TOWARDS THE VEHICLE RESTRAINT SYSTEM.
SYSTEM PROGRESSION SCHEMATIC

FOR W5 PROTECTION TO HAZARD

%\

e SAFE )
CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
e: john.cudlipp@saferoad.co.uk

02 |12/02/19| TITLEBLOCK DESCRIPTION | M.T

01 |10/03/17 POST DESCRIPTION L.L | oRAWING NUMBER: REVn:
** BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION

INSTALLATIONS THE REFERENCES ARE REVERSED 00 |30/01/17 NEW DRAWING L N2W5'GA'20 02

REVn DATE DETAILS INITIAL




GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW A
POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION AS PER THIS DRAWING.
ALTHOUGH IT WOULD BE BENEFICIAL TO USE
THE HOLES ALREADY IN THE BEAM IT IS
ACCEPTABLE TO DRILL NEW HOLES IN THE
DESIRED POSITIONS AND TREAT WITH ZINC
RICH PAINT.

2. OFFSET POSTS SHOWN ON DRAWING
N2W5-GA-00 CAN BE USED.

OBSTRUCTION |

WA
\

2000 4000 2000
SURFACE MOUNTED POST
04 |13/05/22 BASE CHANGED A.D
SURFACE MOUNTED POST
03 |23/07/21| petar ADDED AD
02 |25/05/21 DETAILS REVISED M.T
4000 01 |12/02/19 TITLEBLOCK REVISED M.T
00 |30/01/17 NEW DRAWING L.L
REVn DATE DETAILS INITIAL
=3 o =3 =3 =3 o H
MegaRail ESP4.0

N2 A W5

[ — N N2.W5 VEHICLE RESTRAINT SYSTEM

/ﬂ E 7 ) DEVIATION SETTING OUT
PUSHED IN ARRANGEMENT

CRADLE ANCHOR ‘ OBSTRUCTION | /

DRILL & FIX
OR PUSHED IN ®
ANCHOR
CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE

t: 01724 289119
e: john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

N2W5-GA-40 04




	all-01-04-2020-6-1.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg


	all-01-04-2020-7-1.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg


	08-all-06-06-2022-1.pdf
	h2-w2-ga-50-rev-03_1.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg



	09-all-04-05-2020-1_1.pdf
	H2 W1-GA-16 Rev 01.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg


	H2 W1-GA-17 Rev 01.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg



	10-all-06-06-2022_1.pdf
	srl1-w2-ga-01-rev-00_1.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg


	srl1-w2-ga-02-rev-00_1.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg


	srl1-w2-ga-03-rev-00_1.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg


	srl1-w2-ga-40-rev-00_1.pdf
	Limited 1
	N2W1-GA-00 v2.3 - N2 W1 Components Drawing
	N2W1-GA-01 v2.3 - N2 W1 Assembly and setting out arrangement
	N2W1-GA-02 v2.2 - N2 W1 Bolting arrangements
	N2W1-GA-03 v2.3 - N2 W1 Beam lapping arrangement
	N2W1-GA-10 v2.2 - System progression for W1 protection to hazard
	N2W1-GA-20 v2.2 - N2 W2 into N2 W1 system progression connection detail

	Limited 2
	N2W3-GA-00 - Components
	N2W3-GA-01 - Assembly & Arrangement
	N2W3-GA-02 - Bolting Arrangements
	N2W3-GA-03 - Lapping Detail
	N2W3-GA-10 - Progression Schematic

	Limited 3
	H1N2W4-GA-00 v2.3 - Components
	H1N2W4-GA-01 v2.3 - GA Assembly
	H1N2W4-GA-02 v2.3 - Bolting Arrangement
	H1N2W4-GA-03 v2.4 - Lapping Arrangement
	H1N2W4-GA-10 v2.4 - System Progression

	Limited 3a
	H2W4-GA-00 v1.2 - Components Schematic
	H2W4-GA-01 v1.3 - Assembly & Setting Out Arrangement
	H2W4-GA-02 v1.1 - Bolting Arrangements
	H2W4-GA-03 v1.1 - Beam Lapping Detail For H1 A W3
	H2W4-GA-10 v1.1 - System Progression Schematic

	Limited 4
	H2W5-GA-00 v2.3 - Components
	H2W5-GA-01 v2.4 - GA Assembly
	H2W5-GA-02 v2.5 - Bolting Arrangement
	H2W5-GA-50 v2.3 - Central Res Bifurcation

	Limited 5
	8910002_dwg
	8910010_dwg
	8910020_dwg
	8910030_dwg
	8910050_dwg






